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a»ratAl3Y Tabuco 1»03T3Y CYUY3T363 13A/U3Y
USAUCYY»ACY &3 ICA3T =T EC3%ARA0AIATY Y »fiC
CAST3Y36U3Y ISE&»AC yCY3Ye31anl3y N=03d
whbwnwywb pjnpbihg unwgynn dhonglbn

31 358 025,0

31358 025,0

31367 025,0

31367 025,0

8413 958,3

8413 958,3

1343

afi»Yuar e2NU3Y =1 1»&0»Aasu N2U3Yu3icy
NGUYSATY»AG TA0UGH 363Y6 1»03T3Y adhuG
-3Y0U=3Y U=Ta06T140 1=263{40A046YY»AC T=U
T3 30140 -anT1a04asAla6YY»AC 10U=6 6026140
(-3Y01a0) 3l Ix3iY»i

178 640,0

178 640,0

178 640,0

178 640,0

69 868,0

69 868,0

1350

3.5 122 T3Y - 3Y04iUY»h (w40 1351 +
140 1352)

7422

4001 014,2

4001 014,2

4001 014,2

4001 014,2

1850 769,2

1850 769,2

1351

31 AT40
DO3T3Y Ix3iY»h

3701014,2

3701014,2

3701014,2

3701014,2

1624 955,1

1624 955,1

1352

D3U3{YUC T=E=T3Y r=i=1uasl CYay=1T3U
T3€406T=1 R»YU»iiG, RGYASAIAGYY»AC OACYSTIY36USY
N=U=h Tx3AY»i

300 000,0

300 000,0

300 000,0

300 000,0

225814,1

225814,1

1360

3.6 Q&0 I U»A TAUASACH, Ta0- SYUY»ACo (140 1361
+ 140 1362)

7431

184 600,0

184 600,0

184 600,0

184 600,0

160 584,1

160 584,1

1361

31 Ajasl

13HST3Y CAS TBESETA0V»AC NBUSA T»0313Y
CYay=T=6=7=iil=Y U=AUCYY»AC TablGo
83TV T40AIY UCcadY»AC TCR=640UC6
>>.|.3Uéﬁ-l_Y»ﬁ

184 600,0

184 600,0

184 600,0

184 600,0

160 584,1

160 584,1

1362

Untinptip hwdw)Gph pjniptih Guwndwdp unwbdbwd
a=3U=y=-[=lCY &=AT=TanasAlasyY»Ac aI=r=il=yY
1CU=6 - 3Y0i1a0 TailA»fico

0,0

0,0

0,0

0,0

0,0

0,0

1370

3.7 AYA=6CT 43 A3RWAY3T3Y 1ASUSRYAANY» 1
(rad 1371 + w&0 1372)

7441

0,0

0,0

0,0

0,0

0,0

0,0

1371

31 Arasl

UGHCT3T3Y 3V03Y6
L YuwqowybpwnipyntGatiph Gyhpwptinnipynibhg
hwdwylpha, ytpphthu GGpwlw pjniptiinwhl
NGUY=ATY»AC WYORAGYUSYY =3Y6=T -adlug (NCUy=sT3Y
UGGAd T3U ad YIAA3T3Y STWCT aN=3Y1Ce=3640)
Cii=640UGo ~ 1AZUST3Y UGgadY»iico AYAS6CT
Swiuubiph $hlwluwynpdwl hwiwn hwiwlph pjneb
&W261=1 Va5 wo»A’ TASUSLATST SAT300Y
wnpjninltinhg

0,0

0,0

0,0

0,0

0,0

0,0

1372

UCKCTST3Y 3Y03Y6 ~ T3KUS T»AAA0AIA0Y Y»fiG
Gyhpwptipnipynthg hwiw)Gph, ytpghGhu Gapwlw
pynepbitnwhG hhdGwnpybbph nbophGowGb whgwd gniyph
(NCUY=T=Y UCgad T=3U 44 YiaA3T3Y 3TwCi
iN=Y1¢e=640) CA=6460C6 ™ 1AZUST3Y UGGA6Y»fico
AYA=6CT T2E&»AC yCY3Ye314aAu3yY N=3U=a N3U3ivac
pjnLot unwgywé uninpbin® npwdwnpywé GepphG
wnpniplbiphg

0,0

0,0

0,0

0,0

0,0

0,0

1380

3.8 T2ACT3E 43 AR TAYST3Y 1ASUSEYARNY »h
(ra0 1381 + wad 1382)

7442

10 000,0

10 000,0

10 000,0

10 000,0

0,0

0,0




1381

31 Arasl

UTCA3 T TasAI3Y,
A=é3V .- 40AI3Y CAZTA0YUAT yCHCTST3Y 3Y03Y6C6
T3U3T»R4a0AlaoYY»1co N3USIYUCY, T»ficCYCe
Ghpwlw pjniptitnwyhG hhdGwpyGtph tnGophGuwbG
3v631 - &0luC (NCUYST3Y UCcas T3U 44 YIaASTSY
STwCT al=Y10e=640) Gii=6ailco " 1ASUST3Y
UCCAOY»TCO TBACTSE [SEEAC yCY3Te3 1afl=y
hwdwp hwiw)lph pynept unnwgywé dnuinpbip’
npwiwnpywé wpnwphb wnpnipGbphg

10 000,0

10 000,0

10 000,0

10 000,0

0,0

0,0

1382

UTCA3 T TA0AISY, A3é3Y - AAIBY CAZTadYUAT
YCHCTST3Y BY03Y606 ~ T3%UST»A&40AIAYY»ACH
hwdwylpha, ytpghthu Gapwlw pjniotiinwjhl
NCUYSATY»AC wYAACYUSYY 3Y6=31 -adluc (NCUYST3Y
UGgad T=U ad YIaA=T3Y ST CT aN=Y1Ce=640)
CA=646UCo ™ 1AZUST3Y UCcadY»fco TSACTSE
Swhuutiph hpwlwlwgiwb hwdiwp hwdwyGph pjniob
36131 VAmusA’ WASUSIATST Y»Augy
wnpinipltinhg

0,0

0,0

0,0

0,0

0,0

0,0

1390

3.9 2k » T3V Y»f
a0 1392 + w40 1393)

(w40 1391 +

7452

325 100,0

325100,0

28 000,0

214 334,3

214 334,3

2008 212,7

93871,0

92 469,1

1401,9

1391

S ENE
D3USVAC - AdICY
833631 TY26Y»AC +4EN=1a0640UC6 VAT Uxfi

0,0

0,0

0,0

0,0

1401,9

1401,9

1392

Jwpswyw pynobih ywhniuwinwihb $nlnhg dnlnwyhb
pjnob ywwnwpynn hwuinywgniiGbphg dninpbip

28 000,0

28 000,0

2008 212,7

X

2008 212,7

0,0

0,0

1393

afi»Yoar " CAZT=T=2Y = =Tw»far e=N0=3Yi=T
hwdwylph pjnLpth dntinpwgniwl Gopwyw wyp
»'|'3Uéﬁ-l'Y»ﬁ

325 100,0

325 100,0

0,0

214 334,3

214 334,3

0,0

92 469,1

92 469,1

0,0




P3TI312
p2pieTiadAlacU
Gplwl hwdiwylph pjnpbih Swiuubph Juwnwpiwh Yepwpbpjug
(08/01/14-30/06/2014A. A3U=3Y3T3(=7 =3 1¢ N=30U=3A)

(N=%=3f 1A3U4T)

T3i»T3Y (Bew3Ti31 &E3Y T3i»T3Y xR i31 &E3Y O3ET30C
| T3 | EdoU ) “lage»w3ICY TSES»AC - afT3e3T3Y 1363134 - 03Y . s AYLZU»YA
1a0 p 3¢ 13 S N 13 S N - N
NNC Av| g |- pwohGGtinh, fudptinh L nwutinh wijwGinudGhng AYEEUSYA s Afal AYEEURYA s Afadl =2 A7l
Jupswywa pynigti | $nlnwyhG pjnLob Jupswywa pyngt | $nlnwyh pjnLob Jupswyw pyngt | $nlnwjhl pjniok
(8.7 + &8) (8.10 + 811) (8.13 + 614)
1 2 3 4 5 6 7 8 9 10 11 12 13 14
AU _2@°0A 12Eé°8
2000 | x | X X (W402100+ 1402200+ 1402300+ 402400+ 402500+ 1462600+ 69 491 815,9 69 081 815,9 438000,0 72901 634,2 71098 215,9 38116310 22 428 597,4 23 448 675,1 -1020077,7
1402700+ 1402800+ 1402900+ 1403000+ 1403100)
AU _b20266 ~UasUAL 208200 T2&20a0AUa0600°8
2100 [ 01 0 0 | (ra02110+1402120+ 1402130+ 1402140+ 1402150+ 1402160+ 1402170+wa| 7 776 684,2 7108 810,4 667 873,8 77723418 7 100 894,4 671 447,4 2906 318,4 2734962,8 171 355,6
02180)
3 A4l
UA»Y&10h - aRT31CA USAUGYY»A, &»T3T3Y T363 131400,
2110 [ 01 1 0 yCY3Ye3T3Y ~ N3A13p)niptin3ICY N3A3ptipnipyniGatin, 7216 733,5 6 875 359,7 341 373,8 7217 436,1 6 874 488,7 342 947,4 2790 452,3 2674 780,9 1156714
2AT20CY N2A=plipnup)nLllbn
AfCo
2111 ( 01 1 1 Gfi»Y&1Ch ~ -aAT=1CA UBAUCYY»A,&» T3T3Y T263 1340 7216 733,5 6 875 359,7 341 373,8 7217 436,1 6 874 488,7 342 947,4 2790 452,3 2674 780,9 1156714
2112 | o1 1 2 Shlwluwlwh b hwplywpjnpbitnwihG hwpwpbipnipyntGGbn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2113 | 01 1 3 Upwnwphl hwpwptipnipyniGatip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2120 | 01 2 0 2RATSUCY TY I »E3T3Y (- YaoAlaoy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2121 | 01 2 1 2RT20CY WY »E3T3Y 2¢31640A046Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
BCc3%- 3CY TSHUBT»NAAAIATY Y»AC UGcasal TAZU31AT4a0
2122 | 01 2 2 TV TE3T3Y 0. VASAIASY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2130 [ 01 3 0 CGnhwnip plnyph SwewjnipyntbGhbip 72 050,7 72 050,7 0,0 72 050,7 72 050,7 0,0 16 342,7 16 342,7 0,0
anco’
am| o1 | 3 | 1 Uzuurnuuidh Aunntinh/ gony nlnhwGnin plntph 72 050,7 72.050,7 00 72.050,7 72 050,7 00 163427 16342,7 00
1363140AIA0YY» M
2132 | 01 3 2 TA=-AU3Y ~ 1Cx3T2-A3T3Y AV1=V4a0h 1363140A040YV»ii 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2133 | o1 3 3 LGnhwnip plniyph wy) SwnwynipyntGitip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2140 [ 01 4 0 CGnhwnip plnyph hinwgnunwlwb wfuwnwbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco’
2141 | o1 4 1 Clnhw(nip plnyph hbnwgnunuwlwh wfuwwnwip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
250 | o1 | 5 ) EanhwGnin pinyph hwlnuhl SunuynipnGltinh oony 326 500,0 0,0 326 500,0 328 500,0 0,0 328 500,0 55 684,2 0,0 55 684,2
N> SHLATSTIY " VSES. [3(CY SRESW3YUY»A ' ’ ' ’ ’ ’ ’ ' ’
AfC6
CGnhwnip plnyph hwbpwyhG SwnwynipyntGbtp qény
as1| o1 | s 1 Ry =TaY - Y3, [y SRESw>Yoiuf 326 500,0 0,0 326 500,0 328'500,0 0,0 328 500,0 55 684,2 0,0 55 684,2
2160 oo | 6 | o | ClnhwGninplnuph hm“gggﬂ_f;gggggw"m“hﬂ (il muuuinhG 161 400,0 161400,0 00 154 355,0 154 355,0 00 43839,1 438391 00
AfiC6
210 o | 6 | 1 | PONWOnPORUPRILERAET QuBnIMLAGE (WL nutnhd 161 400,0 161 400,0 00 154 355,0 154 355,0 00 43839,1 43839,1 0,0
2170 [ 01 7 0 a»T3T3Y &3 UC - TaT - 4R 136YasAlasYY»h 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
ARC6
2171 | 01 7 1 a»r3T3Y &3ATUC - TaT -anT12éYasAlasyY»h 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2180| o1 | 8 | o [ “wewdwnnipjuwlnwnptn dwhwnnullth dhol hpulwlwgynn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
pGnhwGnip plnyph tnpwludbipnGbp
AfiC6
281 oo | 8 | 1 | Wwmwdwnnipiwl tuinplin SwhwpnuwlGtnh Ghel Apulwbuglnn 00 00 00 00 00 00 00 00 00
pGnhwncp plniph tnpwGudbipnbbp
AfCO’




2182 | 01 8 1 - npwdwbnphltip 33 whnwlw pynepthh 0,0 0,0 0,0 0,0 0,0
2183 | o1 8 1 - npwdwbnphGbn 33 wy| hwdw)Gpbiph pyniptGbphG 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2185 | o1 8 1
2200 | 02 0 0 a2ptTa2UacAlasy (&02210+2220+7402230+1402240+71402250) 41 870,0 41 870,0 0,0 41 870,0 41 870,0 0,0 18 528,0 18 528,0 0,0
3[1 AT46U"
2210 | 02 1 0 e3%U3T3Y A3RTA3YasAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2211 ( 02 1 1 e3yU3T3Y 43T aA3VaoAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2220 [ 02 2 0 2303036C313Y A3RTA3V40AI40Y 22 000,0 22 000,0 0,0 22 000,0 22 000,0 0,0 10 481,9 10 481,9 0,0
AfC6
2221 | 02 2 1 2302036C3T3Y &3/ A3VA0AlasY 22 000,0 22 000,0 0,0 22 000,0 22 000,0 0,0 10 481,9 10 481,9 0,0
2230 | 02 3 0 2AT30UCY 63%UST3Y 0- YasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
ARC6
2231 | 02 3 1 2AT200Y 634%UST3Y Q- YasAlaoy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
20| 02 | 4 | o |PWSHANSISYTYSES-ISIOY SIESYSYUA ASTYASYARAISY 00 0,0 0,0 00 00 0,0 00 00 00
acafinaoy
AfiCo
20| o2 | 4 | 1 |PPTSHANSISYTVSES isﬁzﬁi@;i‘-ww”ﬁ ASTTASYaAISY 00 00 00 00 00 00 00 00 00
2250 [ 02 5 0 A3 TA3VAAIAY (3 138»ACY 3a31T3Y40) 19 870,0 19 870,0 0,0 19 870,0 19 870,0 0,0 8 046,1 8 046,1 0,0
AfC6
2251 [ 02 5 1 A3RTA3YA0AIAY (BE 126»ACY 4&=31T=3Y40) 19 870,0 19 870,0 0,0 19 870,0 19 870,0 0,0 8 046,1 8 046,1 0,0
92825212120 T287, 201 T207a0A0a00 ~ 272120
2300 | 03 0 0 fas1a0U°asAlasU 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
(ra02310+717402320+ 1402330+ 1402340+1402350+ 402360+ 1402370)
3 Ajasl
2310 [ 03 1 0 D3E3AST3T3Y I3 ~ 3V T3Y - aAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AC6
2311 | 03 1 1 A8WCI=YaoAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2312 | 03 1 2 24 3Gy 3YT03Y - 46Al46Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2313 | 03 1 3 a»r3T3Y &3N&=3VasAlay 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2320 | 03 2 0 OnT3A=n 1=26340AlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2321 ( 03 2 1 OAT3A3A 1=363]a0AlaoY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2330 | 03 3 0 L3T3T3Y - aRT40Y»40A140Y ~ CAZT3T3Y A3RTA3Y40Al40Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2331 03 3 1 Sl i dnl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2332 | 03 3 2 ERST3T3Y 838 w&=YasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2340 | 03 4 0 . BT3E3%a0Ala6Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2341 | 03 4 1 L ST3E3%40A046Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2350 | 03 5 0 T3E3Y2T3(f»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2351 | 03 5 1 T3E3Y=213f»iA 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
20| 03 | 6 | o |DVIANST 3Ylg°nY§E33Y'jUgYY ot sl NSESAE IS 00 00 00 0.0 00 00 00 00 00
AfCO’
21| 03 | 6 | 1 D”'-Bv‘é"'s"'sifl.iﬁﬁvi'?Z'Y.E/SUCY, SBESTETULA NSes=T=T=y 0,0 00 00 0,0 0,0 00 0,0 0,0 0,0
20| 03 | 7 | o pSesASISISYI=A- - .BYZ;@M“Y (ST 2Semncy 00 00 00 0.0 00 0,0 0,0 0.0 00
anco’
| o3 | 7 | 1 pResR=I=T=Y 'Sﬁ'aéir_{.;:é)é“‘\“é"y (B r=encY 00 00 00 0.0 00 00 00 0.0 0.0
TUTee2120 p252" 23a6AUa0U°d
2400 | 04 0 0 | (w402410+71402420+7402430+ 1402440+ 1402450+ 1402460+ 1402470+74 9584 418,0 15081 171,9 -5 496 753,9 10 518 650,1 15 367 513,7 -4 848 863,6 1304 166,4 3970 294,5 -2 666 128,1
02480+ 402490)
=3 A4l
2410 04 1 o Lanhwanep plneyph nbGunbuwywl, welinpwihb b wfuwwnwbph qény 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

hwpwpbipnipyniGltip




4RCO™

2411 | 04 1 1 [ eGnhwGnip plnyph nGunbuwlwh b webinpwihG hwpwptpnupynlGatp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2412 | 04 1 2 [U2huwwnwGph htin Yuwwywé pGnhwbnip pGnyph hwpwptipnupynibGtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2020 | 04 | 2 | o |THAOOSTYIEAADY, SYWSESICY TVI»eaAa0Y, OTYANGAOAlDY ™ | - 363 300, 00 3633000 3633000 00 363 300,0 76 569,0 0.0 76 569,0
aneantasAlaiy
anco’
2421 | 04 2 1 Mias0=wYr»eashlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2422 | 04 2 2 2YW263(0Y WY »easAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2423 | 04 2 3 OTYaneasAlasy ~ aneantashlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2424 | 04 2 4 aé4-ail 363 300,0 0,0 363 300,0 363 300,0 0,0 363 300,0 76 569,0 0,0 76 569,0
2430 | 04 3 0 F2E»ECU 7 (VoA -»TCT=2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
2431 | 04 3 1 Pwpwénthu b wyp Yupdp plGwlywh Junbihp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2432 | 04 3 2 Lwypwdiptipp L plwlywb quq 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2433 | 04 3 3 BCcadl =Gy i=é»ECu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2434 | 04 3 4 126000 3 »E3TY»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2435 | 04 3 5 WETTAS YA -G 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2436 | 04 3 6 aa (B TTASTRY (Y»A-C=2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2440 | 04 4 0 LtnGwwpmyniGwhwinid, wpryniGwpbpnipyntb b 2hGupwpnipnil 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
. . 4 1 SwlpwjhG nbuntpulbiph wnm;];ﬁ;tg&gnm, pwgwnenipjwip pGwlwb 0,0 0,0 0,0 00 0,0 0,0 0,0 0,0 0,0
2442 | 04 4 2 UpryniGwpbipnipyni 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2443 | 04 4 3 PCY=f=faoAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2450 | 04 5 0 TH=Yedanr 16 358 743,5 13986 091,1 2372652,4 23 283 408,4 14 206 573,1 9 076 835,3 3685 295,4 3407 236,4 278 059,0
anco"
2451 | 04 5 1 x3Y283ANSICY TASYeA4RT 8567 070,8 6 331 483,3 2 235587,5 15 427 653,7 6 487 883,3 8939 770,4 2161 924,3 1923 320,7 238 603,7
2452 | 04 5 2 @f=ICY TA=Ye&anT 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2453 | 04 5 3 °nT=A40=1CY TA=YedanT 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2454 | 04 5 4 G13(CY THSYeAART 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2455 | 04 5 5 Ea0ar=313R=23n3(gY ~ 3 wASYelanT 77916727 7 654 607,8 137 064,9 7 855 754,7 7718 689,8 137 064,9 1523371,1 1483 915,7 39 455,4
2460 | 04 6 0 =4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
2461 | 04 6 1 =3 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2470 | 04 7 0 Uj| pGwquduwnlbn 15 000,0 15 000,0 0,0 15 000,0 15 000,0 0,0 0,0 0,0 0,0
anco”
aart| oa | 7 | 1 | @ISISETUSYASISE SETTAN, SARBVIT-AC A=NA=val 00 00 00 00 00 00 00 00 00
a3»enr3ianal
2472 [ 04 7 2 3jnipwlnglbip bW hwuwpwwlw uGlnh opjtlwnGtin 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2473 | 04 7 3 2pnuwnontpntl 15 000,0 15 000,0 0,0 15 000,0 15 000,0 0,0 0,0 0,0 0,0
2474 | 04 7 4 Qunqugiwh pwqiwlwwwnwl dpwgntp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
SOunbuwlwh hwpwptipnipyniGGtiph gény htnwgnunwywh b
2480 | 04 8 0 YRE=. [200Y 2REZT2Y0T»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco”
Canhwnep plnyph nbGnbuwlwl, welinpwihG b wfuwwnwbph
24811 04 8 ! N=370»iC - TAT »T3%AT3T3Y " Y2E=. [3(CY SREZT3YuY»A 00 00 00 0.0 0.0 00 0.0 0.0 0.0
Mas0=TYr»6asAl=2Y, Y1263y T
2482 | 04 8 2 anean1asAl=y - Tar I rshar3T3yY " Y2ES- 13(gY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
SREST3YUY»A
F3E»ECUC ™ (Y»ii-»WCI3(C - TAT I»T3%aAT313Y " Y3E3- 13((Y
2483 | 04 8 3 ERESTEVUVaf 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LenGwwpryniGwhwGiwh, wpmyniGwptpnipjwb b 2hGwpwpnepjw
2484 | 04 8 4 -Tal W Ir3Ra 313y~ YSES. [3(0Y 3RESTIVUY»i 0.0 00 00 0.0 00 00 00 0.0 0.0
TASYERAAWC - TAT N»T3%AT3T3Y ~ Y3E= - [3(CY
2485 | 04 8 5 SRESTIVAVef 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2486 | 04 8 6 T24C - 14T > 3Yar3T3Y " Y2E3- 120V SREST3YUV»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2487 | 04 s 7 Uj| plwqwywrbtiph qény htinnwgnunwywb b Gufuwgdwihl 0.0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

SRESW3Y0Y»ii




2490 | 04 Stnbuwlwl hwpwpbpnipyncGGtn (wy nwubphG swwinywbnn) 7152 625,5 1080 080,8 -8 232 706,3 -13 143 058,3 1145 940,6 -14 288 998,9 -2 457 697,9 563 058,2 -3020 756,1
ance™
2401 | 04 Stinbuwlwl hwpwpbpnipyntGGtn (wy nuwubphG swywinywbnn) 7152 625,5 1080 080,8 -8 232 706,3 -13 143 058,3 1145940,6 -14 288 998,9 -2 457 697,9 563 058,2 -3020 756,1
poe212 Pk®21200K 42PTa20a0AUa00
2500 | 05 (XA025100 ¥ 302520 a02530+ 1 AD2a0+ T AO2SB0+-FAO2560) 7213194,3 7143 194,3 70 000,0 7221694,3 7051 694,3 170 000,0 32963829 3255278,3 41104,5
3 ATl
2510 | 05 Unpwhw@inLd 5 037 106,4 5 037 106,4 0,0 5 037 106,4 5 037 106,4 0,0 2 307 669,2 2 307 669,2 0,0
anco"
2511 05 UnpwhwGnLd 5 037 106,4 5 037 106,4 0,0 5037 106,4 5037 106,4 0,0 2307 669,2 2307 669,2 0,0
2520 | 05 THOW3¢iiviiC ire=6450 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4iCo™
2521 | 05 THOTS¢iinAG (36400 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2530 | 05 Pig3T= UCe=123li¢ 20TaTU3Y 10 &30 38701,9 38 701,9 0,0 38 701,9 38701,9 0,0 18 875,7 18 875,7 0,0
4fiCo"
2531 | 05 Phc2T2 Uge=i2li¢ S0TaTU3Y 10 43103 38 701,9 38 701,9 0,0 38 701,9 38 701,9 0,0 18 875,7 18 875,7 0,0
2540 | 05 UbiGuwpwqiwquinipjwl L pGnipjwl wwwnwwnipyntb 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4Co"
2541 | 05 UbGuwpwquiwqulnipjwl L pGnipjwl wwwnwwbnipynt 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Pic=T= UCc=T=3lAC A3RTASVAAIRY - 14T b T3%aT3T3Y
2550 | 05 Y3k, =iy SRE=TSVITof 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
Pic=T= UCc2T3liC A3RTaSVaAIRY - 1ai b1 3rar=T3Y
2551 | 05 Y3k, 30V SRESTSVVof 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2560 | 05 Piic31= UCe=T3lC A=RTa=Vasklady (S 136»AcY 3&=71T=Va0) | 2137 386,0 2067 386,0 70 000,0 2145 886,0 1975 886,0 170 000,0 969 838,0 928 7335 411045
4nco™
2561 | 05 Phc=T2 Ugc=T3lAC A=RTa3Vasklasy (3 13e»AcY 3a=wT3Va0) | 2 137 386,0 2067 386,0 70 000,0 2145 886,0 1975 886,0 170 000,0 969 838,0 928 733,5 411045
0212520200 pEU252620A0a00 ©1 TagasU2E 12e20a6A0a0U
2600 | 06 (4403610 03620+ 403630+ ¥ 403640++ 203650+ ¥ 203660) 9183 398,3 6 650 256,8 25331415 11 394 600,2 6 540 207,9 4854 392,3 2975 095,1 1757 546,0 1217 549,1
3 ATaol
2610 | 06 “V=T3A3Y3UcY ReV3ii=hanhlasy 526 597,1 26 597,1 500 000,0 2726 597,1 26 597,1 2 700 000,0 815 500,0 2500,0 813 000,0
4ACo’
2611 [ 06 “YSTSASY3ICY RCY3ii=haAlasy 526 597,1 26 597,1 500 000,0 2726597,1 26 597,1 2700 000,0 815 500,0 2500,0 813 000,0
2620 | 06 p303IVulcY %= - 36400 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fiCo"
2621 | 06 D3USYU3ICY %30 - 36400 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2630 | 06 #2303 1313A3A400 3074 160,2 3074 160,2 0,0 31154995 3115 499,5 0,0 3017359 301 735,9 0,0
4iCo"
2631 | 06 &30S 131303400 3074 160,2 3074 160,2 0,0 3115 499,5 3115 499,5 0,0 301 735,9 301 735,9 0,0
2640 [ 06 64046Y»fiC Ease=>Tafiasl 2180 973,0 1973 973,0 207 000,0 2180 973,0 1973 973,0 207 000,0 852 145,5 848 153,0 3992,5
4iCo"
2641 | 06 54a0a6Y»fG Ease=Tanasl 2180 973,0 1973 973,0 207 000,0 2180 973,0 19739730 207 000,0 852 145,5 848 153,0 39925
“YST3ABYUCY ROYSASAAAIBY ~ TAUAGY3E 1=263(40A1A5YY»G
2650 | 06 AT R A SHATSTSY  YSES . [3(CY SEES TSV 8000,0 0,0 8 000,0 10 000,0 0,0 10 000,0 25188 0,0 25188
4ACO"
“Y=ISA3Y2UCY 0YSh=hasAl3Y - Talasy=t T3¢3lashlasyV»nc
2651 | 06 4T RV SHAWSTSY  YSES . [30CY SEES TSV 8000,0 0,0 8 000,0 10 000,0 0,0 10 000,0 2518,8 0,0 2518,8
2660 | 06 Y=T==Y=(0Y ECY?'F:’S'Z?)Z\(??;E";_?_UI@;:&'393“55AU35YY’>'~‘ GE1 33036680 1575526,5 18181415 3361530,6 14241383 19373923 1003 194,9 605 157,0 398 037,8
4iCo"
2661 | 06 TYSTSRSYSICY BOYSARAAY | T8UANSE T=e=Uashlavy>fl (3E | 5 393 668,0 15755265 18181415 33615306 14241383 1937392,3 10031949 605 157,0 398 037,8
E»ACY 443w T3Ya0)
2ea0@2a2batAlacl
2700 | 07 (02710 4027 20+ v 402730 v A02T 4OV 80250 A62760) 165 000,0 15 000,0 150 000,0 165 000,0 15 000,0 150 000,0 36 829,1 1392,0 35437,1
3( Atasl
2710 | o7 “ABTSTSY SARSYUY»A, 83f0nA ~ E3A0= 147400V 100 000,0 0,0 100 000,0 100 000,0 0,0 100 000,0 29 906,4 0,0 29 906,4

4RCO™




o] o7 | 1 | 1 0 ARSI S&RSY Ui 100 000,0 0,0 100 000,0 100 000,0 0,0 100 000,0 29 906,4 0,0 29 906,4

2712 | 07 1 2 Uj| pd2qulwl wwypwGplbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2713 | 07 1 3 “ART3T3Y €3A0xA ~ 3A0=3 TaRA0UY»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

220 07 | 2 | o SSRGSV S46I0Y 36 IRV ofl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
aCo"

2721 | 07 2 1 Llnhwlnip plnyph pd24ulwl Swowynipynilltn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2722 | 07 2 2 Uwulwghinwgywés pdgulywb swrw)jnipyntbltin 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

23| 07 | 2 | 3 STAUSTAEA- CRT=Y [26=A0AA0Y Yol 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2724 | 07 2 4 Muwpwpdywlwb SwewjnipyntGhtip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2730 | 07 3 0 DCT=3Y13Y4a63(GY 1=6=1a0A140YY»ii 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco'

2731 | o7 3 1 Chnhwnip plnuyph hhywGnwinguwjhG swrwjnipyntGGtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

22| o7 | 3 | 2 g=6Y= - CT=01=1 NCT=Y12Ya6=I0Y 156=1a0Aa0 Yot 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

33| o7 | 3 | 3 “ART=T3Y, VAR~ USVI=Y ToV T havTsic 156=(a0Aa0VVoh 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

| o7 | 3 | 4 D (YUY YSiY 00 00 00 0.0 00 00 00 00 00

2a0| 07 | 4 | o DSVASICY S640¢SA=N=15Y [56=1atAlao Vo 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
aRCo"

2741 | 07 4 1 D3YA=ICY 2640¢28=3N=13Y 1=26=3(a0Ala0YV»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2640c23A3NAAIBY - TaT N» T3%AT3T3Y ~ Y2E=-13(CY

as0| o7 | 5 | o L Y= 00 00 00 0.0 00 00 00 0,0 00

&nco'
24630032 33Na5AI3Y - T4 BLAT3T3Y  Y2E3- 13(CY

as| o7 | s | 1 A L oy AV Ve = 00 00 00 0.0 00 00 00 00 00

260 07 | 6 | o 26406=&=NaTAIANT (S 13E»CY =T T=Ya0) 65 000,0 15 000,0 50 000,0 65 000,0 15 000,0 50 000,0 6922,7 1392,0 5530,7
aCo"

61| o7 | 6 | 1 26406=&=N=T3Y NSR=100 126=IaARo1 1= - finfl 65 000,0 15 000,0 50 000,0 65 000,0 15 000,0 50 000,0 69227 1392,0 5530,7

22| 07 | 6 | 2 26406=&=Na0AIAN (S 13eniCY =T T3Ya0) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2800 o8 | o | o (_I_éo2810+_I_§’622L;g‘i‘?lzog’g’;ﬁ%gj;_:ggz%50+_I_é62860) 34231735 2466 693,5 956 480,0 37254106 24680143 1257 396,3 1062 266,1 1031 500,0 30 766,1

31 AT40U°

280 08 | 1 | o D3Y-6C ~ BRATIC 12621a0AA0V Yo 830 163,6 418 683,6 411 480,0 1030 163,6 418 683,6 611 480,0 227 8615 218 886,8 8974,7
&nco'

1] o8 | 1 | 1t DSY-6WC ~ BRATIC 1563 1a0AA0V Vo 830 163,6 418 683,6 411 480,0 1030 163,6 418 683,6 611 480,0 227 8615 218 886,8 8974,7

20| 08 | 2 | o DRSTEASICY T=6=1asAlaat Vo 2532989,9 1987 989,9 545 000,0 2633 906,2 1987 989,9 6459163 800 595,0 778 803,6 217915
anco'

21| 08 | 2 | 1 ==Y 600 257,7 364 257,7 245 000,0 609 257,7 364 257,7 245 000,0 180 449,1 158 657,6 217915

22| 08 | 2 | 2 A=Y - SRVVoh -~ GAOGZEN=NYoR 234 2024 234 2024 0,0 295 702,4 234 2024 61 500,0 87 952,6 87 952,6 0,0

23] 08 | 2 | 3 Uzwlnuph nGbn, whntdpGbn, LeGnpnGGbn 85 108,2 85 108,2 0,0 124 5245 85 108,2 394163 40 6181 40 618,1 0,0

24| 08 | 2 | 4 2[E UBSTA0ASICY THUST»ABAGAIANT Vot 1176 2058 876 2058 300 000,0 1176 2058 876 205,8 300 000,0 3393114 3393114 0,0

2825| 08 | 2 | 5 AT 4015158 4015158 0,0 4015158 4015158 0,0 145 4784 145 4784 0,0

2826 | 08 2 6 TCY»U3T1a-AsyC= 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

827 | 08 | 2 | 7 | DABSAOSYACT “33'3‘2“3?2;:(56’”»“ ASTSY-va - 26 700,0 26 700,0 00 26 700,0 26 700,0 00 67855 67855 00

&31C4 54561 3N204R1A5UY»AC N»e3Sf03TU3Y

a830| o8 | 3 | o e e 1Y 36000,0 36000,0 00 36000,0 36000,0 00 9960,0 9.960,0 00
aRCo'

2831] 08 | 3 | 1 Do 6a0E T S631CANS0AN AT 36 000,0 36 000,0 0,0 36 000,0 36 000,0 0,0 9960,0 9960,0 0,0

2832 ( 08 3 2 Ipwwnwpuwysnipynibltn, fudpwannipntGatp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2833 | 08 3 3 Stntlwwnynipjwh dtinpptipnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

80| 08 | 4 | o THaY=12Y ~ R6=R=T=13Y =ik [26=1a0AlaVY1 24 020,0 24 020,0 0,0 253408 253408 0,0 238496 238496 0,0
&nco'

a1 o8 | 4 | 1 AT =E=ML=1SY 172 - finfl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

swaz| o8 | 4 | 2 O = onaasiletivh, SaUCaR Do 00 00 00 0.0 00 00 00 00 00

83| 08 | 4 | 3 ThaV=1=Y ~ R=e=R=T=12Y =ik [26=0AR0VY1 24 020,0 24 020,0 0,0 253408 253408 0,0 238496 238496 0,0

3BY - &7 BTAd. o A4 - AT IT3BLAT33I3Y T YSE3. |3

850 | o8 | 5 | o [PEY-EWC UBSIAGAC Oy TSIV Y=E= = 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco'

o | o8 | 5 | 1 [PPV-evC USSTANAC " ThAVC -Tat ot =vaw=1=y - VoE=- 13167 00 00 00 00 00 00 00 00 00

SRE3T3YuY»i




2860 | 08 D3Y-Gew, URSTAGIA ~ TRAY (3(E 136»ACY 4831 T=3Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Eoy

2861 [ 08 D3Y-Cew, UR3TAGIA ~ TRAY (B 1=36»ACY 4&3T13Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

T5Aa6AUa00

2900 | 09 (‘l‘éOZQ10+'|'é02920+'|‘éf)2930+'|'é(:32940+'|‘éf)2950+'|'é02960+‘|‘é02970+'|'é 23 707 658,9 22 153 400,3 1554 258,6 23759 129,2 22 204 870,6 1554 258,6 9312 804,2 9 162 966,3 149 837,9

02980)
3 AjasU

2910 [ 09 USE=18/463T3Y ~ T3AAZ13Y AV2(=Y40R ThA4AIA0Y 13 240 035,2 12 940 035,2 300 000,0 13 163 293,6 12 863 293,6 300 000,0 5327 600,2 5325 043,2 2557,0
4fce”

2911 [ 09 USE314/46313Y TAA40Ala6Y 6 847 740,0 6 547 740,0 300 000,0 6 849 282,2 6 549 282,2 300 000,0 2741 615,9 2 739 058,9 2557,0

2912 | 09 T3AAST3Y AV2=V40n ThAasAIAY 6 392 295,2 6 392 295,2 0,0 6314 011,4 6314 011,4 0,0 2585 984,3 2585 984,3 0,0

2920 [ 09 BCeY=T=30- AVLN=YasA ThAAGAIASY 7 124 009,9 7 124 009,9 0,0 7 104 883,9 7 104 883,9 0,0 2911522,0 2911 522,0 0,0
4fce”

2921 | 09 BCUYST3Y AYN=Y4sf Th 6813 678,2 6813 678,2 0,0 6 801 061,0 6801 061,0 0,0 2790 550,3 2790 550,3 0,0

2922 | 09 BCeY2T3A - (EAGT) AYLN=YA0A THAAGAIAGY 310 331,7 310 331,7 0,0 303 822,9 303 822,9 0,0 120 971,7 120 971,7 0,0

2030 | 09 vSEEIsT s z'.z.l.fy’.“l.’;;;;dé%’;'3'3Y) veeey 00 00 00 0.0 00 00 00 0.0 00
4ACo"

2931 | 09 USEYST3Y USeY3-CT3T3Y (il 13- 4R T3T3Y) TAasAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2032 | 09 @O U=eV= . CusT=y Alaoy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2940 [ 09 “3A0AS - 460Y ThA&sAI&Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fGo"

2941 [ 09 “2f0A= - 40lY UBeY=2-C=T3Y ThA&AIASY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2942 | 09 3twnpnithwlywl dwuGwghwnwlywh Yppnepintl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2950 [ 09 AT UST3AL3TY»AG 8136313 - 140 TRAAGAIASY 2764 650,1 2060 391,5 704 258,6 2889 062,6 2184 804,0 704 258,6 1 005 495,8 919 026,2 86 469,6
4ACG"

2951 [ 09 2ATS1LARA63T3Y 128 T(SASTA0AlAsY 2764 650,1 2060 391,5 704 258,6 2 889 062,6 2184 804,0 704 258,6 1 005 495,8 919 026,2 86 469,6

2952 | 09 Ef=6406Ca THA&0AI45Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2960 | 09 TRAGGAISYA 130317740 0A=3Y13T 1=363(40A146Y V> 578 963,7 28 963,7 550 000,0 601 889,1 51 889,1 550 000,0 68 186,2 7 375,0 60 811,2
4ACo"

2961 | 09 TAA&GAI=YA 120217140 0A=Y1=3T 1=26=3(40A040Y Y »fi 578 963,7 28 963,7 550 000,0 601 889,1 51 889,1 550 000,0 68 186,2 7 375,0 60 811,2

TRAASAIBY &anTaol N» T3%a 1 313Y  Y2E=-1=3(CY

2070 | 09 o1 00 00 00 0.0 00 00 00 00 00

4fCe”
TRAASAIBY AFART AU N» 1 3BRaT3T13Y  Y2E3- 3(cY

2071 | 09 R A e oE= ey 00 00 00 0.0 00 00 00 00 00

2980 | 09 TriA4oAl4oY (3 136»ACY 43&=TT3Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4AC6"

2981 [ 09 TAA&SAIATY (B 1=26»AiCY 48271 T=2Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

620£2E2T20 &a2pTa2UasAlasl
3000 | 10 (1403010+1403020+ 1403030+ 1403040+ 1403050+ 1403060+ 1403070+ 14 23491117 23491117 0,0 2277 567,9 2277 567,9 0,0 716 603,1 716 603,1 0,0
03080+1403090)
3 Ajasl

3010 | 10 13T3640ca0AIA0Y ~~ BYSRE3 1AV 3T40AI40Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4AC6"

3011 | 10 1371 =640¢a0Ala0Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3012 | 10 2Y3RE3TA5Y3T40A0a0Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3020 | 10 T »hacAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4ACe"

3021 | 10 T»iiasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3030 | 10 DBA3R3UCY Tanon=1 3YocYu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4ACG"

3031 | 10 D2ABRUCY TaA6AZT 2Y0CYu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3040 [ 10 AVTSYCUC 3Y230YV»A ~ B3T3 TY»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fGo"

3041 ( 10 AYT3YCUG BY13UY»A " %3 T21TY»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3050 | 10 TanT1=%nTasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fGo"

3051 ( 10 TaRT3%ATa0AIAY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3060 | 10 “Y2I2A3Y23(CY 284=N4140U 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0




4RCO™

3061 | 10 Y=T=R=Y2I0Y Sa=Naral 0,0 0,0 0,0 0.0 0,0 0,0 0,0 0,0 0,0

3070 | 10 B46C3E2T3Y = wasT SATAVARIATT»i (3 236y 28=113Y40)| 583 104.6 583 104,6 0,0 593 304,6 593 304,6 0,0 154 721,9 154 721,9 0,0
anCe"

3071 | 10 B46C3EST=Y = wA0T 3w AVARIAYof (SE 136»ACY 34=wT=v40)| 583 104,6 583 104,6 0,0 593 304,6 593 304,6 0,0 154 721,9 154 721,9 0,0

BA6CIESTSY ASRTASVAAISY AATTA00 o T VA T ToY -
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4751 |263¢26=T TY26T2TUY»AC T2U TY26Y»AC M»AST3Y - V45U 4851 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
4760 | 2UE T2E6°8 (vaDA761) X 110712210 | 110712210 X 11 163 198,3 11 163 198,3 X 1735 558,6 1735 558,6 X
AfCG"
4761 | -2E 1=E6»h 4861 | 110712210 | 11071221,0 X 11 163 198,3 11 163 198,3 X 1735 558,6 1735 558,6 X
4770 | &2Dacé T2UAU OEzaolod (vaba771) X 6 047 307,0 6072 307,0 3000,0 6 025 370,1 8 030 582,8 3000,0 799 604,1 799 604,1 0,0
ARCH"
4771 | -a=Na0e r=1CY UCCA6Y»A 4891 6 047 307,0 6072 307,0 3000,0 6 025 370,1 8 030 582,8 3000,0 799 604,1 799 604,1 0,0
wyn pyntd’ hwiw)Gph pjniebh Jupswwb dwuh wwhniunwihG
4772 |yav1Co yay1={cy U=6 1= =140 NS wT=6400V»A X 28 000,0 28 000,0 X 2008 212,7 2008 212,7 X 0,0 0,0 X
~.aa 0£U20é2T20 2TTAIUCSE TTai
5000 J2Eé&°5 X 8 677 706,3 X 8 677 706,3 18 107 629,9 X 18107 629,9 | 20006784 X 2000 678,4
(1a05100+ 1405200+ 1405300+ 1ad5400)
ST
1.1. DERU2T20 PE=aoU°8
5100 | e 10 v 05120+ 140130) X 8 638 206,3 X 8 638 206,3 17 968 129,9 X 17 968129,9 | 19337739 X 1933 773,9
EEWSTIN)
poUg°8 °7 bAUaGAUa600°8
S110 | 265111+ 74081197 205113) X 7 153 509,4 X 7 153 509,4 16 284 919,4 X 162849194 | 16010936 X 1601 093,6
ARCO'
5111 | - GhiGpkph L 2pGnip)niGGLph dbnp phpncd 5111 500 000,0 X 500 000,0 2 700 000,0 X 2 700 000,0 813 000,0 X 813 000,0
5112 | - P»YU»AG ~ RCYABAIAGYV»AC 136406400 5112 1562 000,0 X 1 562 000,0 8142 792,9 X 8142 792,9 131 202,0 X 131 202,0
s113 | PPYUPAC ™ BCYASAIAGYYAC T=ACTSE THAi=vana - 40U 5113 | 50015094 X 50915094 | 54421265 X 5442 1265 656 891,6 656 891,6
2°0°020°3 ©7 62802120a000°8
5120 | 2661010 v405122+1405199) X 1150 196,9 X 1150 196,9 1323 086,9 X 1323 086,9 272 853,6 X 272 853,6
ARCO'
5121 | - TRSYEAANT=ICY 83A0= fanadUY»h 5121 50 900,0 X 50 900,0 50 900,0 X 50 900,0 37 890,0 X 37 890,0
5122 | - 12043 13Y 63002 1ana0UY»h 5122 127 832,0 X 127 832,0 127 532,0 X 127 532,0 67 518,7 X 67 518,7
5123 | - 2 UsUsY Vo -~ E2A03T4Na00T»h 5129 971 464,9 X 971 464.,9 1144 654,9 X 1144 654,9 167 445,0 X 167 445,0
20E pEDU2T20 OFzaol°d
5130 | 6 5131040 513200 5133+ ¥A05134) X 334 500,0 X 334 500,0 360 123,6 X 360 123,6 59 826,6 X 59 826,6
ARCG
5131 | -2x»0140 STWCTY»f 5131 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5132 | - aa YIabA=12Y NCUY=T=Y UCcaoy»h 5132 0,0 X 0,0 1623,6 X 1623,6 1623,6 X 1623,6
5133 | - Trat»¥CE 13V USA N %= -A=13Y 1SEExR 5133 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5134 | - USE3- 13 T3%ar313Y 13Eé»h 5134 334500,0 X 334 500,0 358 500,0 X 358 500,0 58 203,0 X 58 203,0
5200 |1.2 42P200°8 (1a05211+ 1405221+ 1405231+ 1a05241) X 39 500,0 X 39 500,0 139 500,0 X 139 500,0 66 904,5 X 66 904,5
3 A4l
011 | - PPUSIVUSICY YBSYSTAAISY 63403 1373137 &383AVxi 5211 0.0 N 0.0 0.0 M 0.0 0.0 M 0.0
5221 | - UladA»f ~ &=A=- =V»f 5221 39 500,0 X 39 500,0 139 500,0 X 139 500,0 66 904,5 X 66 904,5




- I»A3T3x360C N3U3A YIE3T»6131 3AA3YUY»f

5231

5231 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5241 | -e&=eU=3Y YA3T31ai a=N1a0 A=3R3iV»i 5241 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5300 |1.3 - 200020A%0 ZTTETUS (140 5311) X 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
31 A4l
5311 | -~ 3A0A3AA»U ST CTY»A 5311 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
1.4 22672, 6121 UYSPIUEL (rad
5400 5411+740 5421+ 40 5431+7405441) X 0.0 0.0 0.0 X 0.0 0,0 X 0.0
3{1 A4l
5411 | -Dad 5411 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5421 | -AVI»AUSICY STHCTVoA 5421 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5431 | -Uj; plwlw@ Swqnid niGtignn wlwnhyGbp 5431 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5441 | -ad YI&AST3Y a3AT31AT31 STUCIY»0 5441 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
9. aa uEU2082T20 2TTE1 UCBE £520200£0 -8 242 706,3 X -8242706,3 | -14 2989989 X -14 298 998,9 | -3020756,1 X -3 020 756,1
6000 (Ba0T @20 (vad6100+ 1406200+ 1406300+ wa06400) X
EENER
6100 2T2(0 ao0° 202000 JATTEO
DECU=T=U BA=aoU"dk £5=0a00E0 0abiTa"0 X -1 800 000,0 X -1800000,0 | -1650000,0 X -1650000,0 | -567131,6 X -567 131,6
(406110+ 1406120+ 1406130)
EENYER
6110 | 2UP=5A 1a6Unk £520200/£0 DadTo5 8111 | -1800000,0 X -1800000,0 | -1650000,0 X -1 650 000,0 567 021,6 X 567 021,6
6120 |P28AZ120 TadUok £620a00/0 PadT o 8121 0,0 X 0,0 0,0 X 0,0 -100,0 X -100,0
8131
6130 | 21 pEgU=T=20 DERa0U°SE £520200/0 PaoTED 0.0 X 0.0 0.0 X 0.0 100 X -10.0
a2p2/U°Hk £520a00E0 FAOTECD
6200 (V4062104 406220) X 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
EEY TR
e2yp=21262120 b20200020f0 &2Pp28U°8K
6210 | o320 360E0 DAGTCS 8211 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
20F &2p28U°8k £S20a00%0 DadTo°d
6220 (v406221+ 7406222+ 71a06223) X 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
ARCo
6221 | - 2ZRT=S1A=12Y A3R2AY»AC Ci=0asUCo Uab i Usfi 8221 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
SIS 13x360C N30S0 SAan=YUY»AC Chi=6aiuco
6222 |Uasvimf 8222 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
- A3BA3B 2B)3A YSBEST» 131 A33/AY»A
p223 | - CATEUSY N2USA YSESIHEr=T A3R=AY-AC 8223 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
CA=0640UCO Uadmu»i
“230828A00 2TTEi 10 2334 A AA o,
6300 | _’6~06 O0ACg 2ZITETUCOHL £520a00£0 BadT@®0 X 0.0 X 0.0 0.0 X 0.0 00 X 0.0
(&0 6310)
EEN TR
6310 | ~280828/4°0 2TTET UCSE F520300/0 DA0ToOS 8311 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
42572, 5121 2TT£1 UK £520200K0 Ga0TEOD
6400 X -6 442 706,3 X -6442706,3 | -12648998,9 X -12648998,9 | -2453624,5 X -2 453 624,5
(1406410+ 1406420+ 1406430+71406440)
EENYER)
6410 |PAaOZ £320a00/£0 DadTo°d 8411 | -64427063 X 6 442 706,3 | -12 6489989 X -12648998,9 | -2453624,5 X -2 453 624,5
6420 |GTT2126 D2UZ 1 AU°SE £OZ0200/£0 DadTo°d 8412 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
20E ~U2120 121260 a0U°0a0 bADUZT20
6430 | iy reao U086k 5202000 Da6TEOS 8413 0.0 0.0 0.0 0.0 0.0 0.0
aa UlaoA=212U 82012, 0121 2ITATUPOK
6440 8414 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0

AO20a0d#o PadTo°d




b=2pi

Tia6AuasU

05012 g202g D21°Ea6S L 120 42126400 £ (_CULOETE) 12125020 19527 o802¢

(08/01/2014-30/06/2014A. A2U=Y=T23R=3 7 =1¢ (=20=0)

(R=%= 1A=040)

P=Ti=14

T3> I138Y NSeT3Ti131 a3y T3> 13Y xR i=1 aE3Y O38T306(C
L AY13U»YA AY13U»YA AY13U»YA
o s(2 Aol s Aol s Al
T=na NENEEST =N yav1=] REiSIEA NEYEES A
(6.4 + &5) pjnLoki pjnLoti (6.7 + €8) pjnioti pjnioki (.10 + &11) pjnLoti pjnLoki
1 2 3 4 5 6 7 8 9 10 11
AU, =0°UA DZ.I.OEaOAa\’AA I\ZQ - CUROETA -400 000,0 0,0 -400 000,0 -1793 418,3 0,0 -1793418,3 4 335 099,0 3313619,4 1021 479,6

8000, (&=21=2éa00_A)




p2picoTiacAlasy

P3TI=315

252120 g202gf£ D21°Ea08, £ T2725 1020 a60026AUa0UUCSE T20 42128400, £ (, CULOETE) UAU2082128020 207 UaodU°sE

(08/01/2014-30/06/2014A. A=2U=3Y3T3(3T =1 (=3U3A)

(R=%=f 1A=041)

T3 13Y NSe 131131 AEsY T3 13Y xBH 131 AE3Y 5381300
“ 145> T3ICY TPE&»AC TY T »e3-C 313V 136313#-U3Y NALT3TY»A
pa0g | (O WSICT ISESACTVINES -(WSISYASeSISn- 0SVNaTSIDAC | avasinva s Arail AV2SUYA s Arail AVASULYA i1 A0
NN _ — (6.5+€.6) — — (e.8+€.9) — — (e.11+&.12) — e
3YT3YalUY»iA NN I3Aa313Y U3é | yaY13(CY U3é 1303313y U3¢ | yaY13(CY U3é 1303313y U3¢ | yaY13(CY u3é
1 2 3 4 5 6 7 8 9 10 11 12
AU 2g°UA (w40 8100+ w40 8200),
8010 (V40 8000 N=T=6T YR=Y4T) 400 000,0 0,0 400 000,0 1793 418,3 0,0 17934183 -4 335 099,0 -3313619,4 -1 021 479,6
3[1 ATal
8100 2 (Joaskl 20” Uas5U°8 (740 8110+7°40 8160) 400 000,0 0,0 400 000,0 1793418,3 0,0 1793 418,3 -4 335 099,0 -3313619,4 -1 021 479,6
3[1 ATail
—= —5 ——=
8110 él.léjo‘?E ead JEeaoled (140 8111+7140 00 0.0 0,0 00 0.0 0.0 0,0 00 00
S Aiaol
g111| 1.1. Undtipnplin (pugwrnipywiip pwdGtinndubiph b uwhuwpnud wyy 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
U38Y=3T640AI3Y) (140 8112+740 8113)
anco’
8112| - pnnwplynidhg b inbnwpuwpfunidhg dniinpbn 9111 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8113| - NCUY=T3Y - a5U=AC U=iiasU 6111 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8120[1.2. I3AT»A ~ —AE3TT40AIA6YY»A (6206400 ~ U=f4dl) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
(w40 8121+wa08140)
3(1 ATal
8121|1.2.1. 1=7il»N (140 8122+71a0 8130) 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
anco”
8122 - I3AI»AC 6736400 (W40 8123+40 8124) 9112 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
ACO
8123\ whwnwlwl pintobhg 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8124|wy) wnpyniplbphg 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
S 6136121 13Al»A¢ NGUY3T3Y - 40U=AC U=ndol (7a0 8131+ 740
8130/|8132) 6112 0,0 0,0 0,0 0,0 0,0 0,0
anco’
8131|373 whnwlwl pynipbhG 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8132|wyy wnpyniplliphG 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8140|1.2.2. GAE3T740Al46YY»A (w40 8141+ w40 8150) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco’
8141| - pyrugbunuyh thnpuunnyrupyni GGtk g (vads142+wads143) | 9112 0.0 00 00 0.0 0.0 00 00 0.0 00
anco’
814237 whnwlwl pynigbhg 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
814337 wy; hwiuwylplbiph pintoblbnhg 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
- BT 36731 +4E3TTA0AIAYVoiC - 40U3AC U=3nao0 (740 8151+1a0 o112 00 00 00 00 00 00 00 00 00
8150/8152) ’ ’ ' ' ’ ' ' ’ ’
AMCo"
8151|373 whunwlwa pynipbhl 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
8152|373 wy; hwiuylplbph pintoblbphl 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
2. UAU2062T20 2TTET U8 400 000,0 0,0 400 000,0 1793418,3 0,0 1793 418,3 -4 335 099,0 -3313619,4 -1021 479,6
8160|(1408161+1408170+1408190- 1408197+ 1408198+ 1408199)
3[1 AT4sU"
2.1. “3AY»TaUe»A " TSACT3E40U 3k U=6Y3T640A046Y (a0 0.0 X 00 250 000.0 X 250 000.0 228 000.0 X 228 000.0
8161|8162+ 140 8163 + a0 8164) ' ' ' ’ ' '
ACO"
- hwiwylpuyhl ubithwlwlnipjwl pwdltinndubiph b uwpuwnid 9213 0.0 X 0.0 X 00 X
8162|N=3U3{Y0C U=6Y3T640AI3Y CA=645UC6 VAT U»i ' ' '




- CA=T. 3Y0. T3YaY31i. T3ACW3Ea0U &» 7. USeY3T6, 8. é»+3T.

8163 hwlnhuwgnn wlpwnd gnyph (pwgwn. hnnbph), wyn pyntd” whwwpun 9213 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
2hGuipwp. opyliinlbph dwulwynpbgniihg 9. Uhgng-hg
hwdwylph pynLolk dwuhwlnidhg dniunplin
8164| - pwdltiinndubip L Guypunwnid wyp dwulwlgnipyni d6npplpnid 6213 0,0 X 0,0 -250 000,0 X -250 000,0 -228 000,0 X -228 000,0
8170[2.2. BAEZT T40AIAHY V> 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco”
- YBEIGYAU TABUSIATST +~AE3T1T40Al46YY»AC 1GU36 6136140
8171|U3fiaUY»nCco U 9212 0,0 0,0 0,0 0,0 0,0 0,0
8172 - —AE=7T40AI46YY»AC TA=U31A450 6212 0,0 0,0 0,0 0,0 0,0 0,0
2.3. 3wiwjGph pynLgbih thengGliph nwpbuyqph wquwn vhwgnpnp®
8190 |(W40 8191+740 8194-140 8193) 400 000,0 0,0 400 000,0 2043 418,33 0,0 20434183 2043 418,33 0,0 2043418,3
3[1 AjasU"
2.3.1. 3wdwylph pyniobh qupswlywh dwuh dhengltiph tnwpbuygph
8191 |50 o UV=6ant 0320 100 000,0 100 000,0 X 1823 495,0 1823 495,0 X 1823 495,0 1823495,0 X
4nco"
- Ghpwlyw t nunndwl hwdwylph pynipbh Jupswlwl duwupg Gufunpn
8192 [W=adl yoY3Ve=ail3y »YAST=, 6313)Y ayCy3Ve=fani=N 3613 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
A3AT3T4Ra0AIAYY»AC TS T3AISYA
- GOpwlyw t ninndwl hwdwylph pynigbh pnlnuypl dwu
8193 (V40 8191 - 40 8192) 100 000,0 100 000,0 X 1823495,0 1823 495,0 X 1823 495,0 1823 495,0 X
2.3.2. 3wiw)lph pjnipbh $nlinwjhl dwuh dheonglbtiph tmwnbulygph
8194 | 0ssant (V40 8195 + T40 8196) 9330 400 000,0 0,0 400 000,0 2043 418,33 0,0 20434183 2043 418,33 0,0 2043418,3
anco”
- wnwlg yunswlwl dwuh dhongllipnh tnwpbulqph wqun dGwgnpnhg
8195 GATLSICY U=6 UATWU= - AUSY »YASTS - 40U=AG 300 000,0 X 300 000,0 219 923,3 X 219 923,3 219 923,3 X 219923,3
- Yupswlwl dwup Shonglbiph inwnpbuligph wquin dGwgnpnhg
8196 GAYIIICY U6 UATTU=- AUSY »VAST - 400=RA (140 8193) 100 000,0 X 100 000,0 1823495,0 X 1823 495,0 1823 495,0 X 1823 495,0
2.4, 3wdw)Gph pyneth $nGnuwphG dwuh dwiwGwlywynp wquin
8197 UCcaoY»Ac TA=U31Aail 13ra3T3Y U3e X X X X X X 0,0 0,0 0,0
2.5. 3wdw)Gph pyniebh dnGnwjhG dwuh dwiwGwlywynp wqun
8198 |UCGAGY»ACH T2Aa3T2Y U=6 TASUS1AT2T UCGAdY»AC T»A313A0 0,0 X 0,0 0,0 X 0,0 0,0 0,0 0,0
yav1=icy Use
2.6. 3wiwjGph pynLgbih hwzynid dhengltiph WGwgnpnlbipp hwaybinnt
8199 |A=U3Y=T={=7T=14U (r408010- w40 8110 - w40 8161 - w40 8170- 0,0 0,0 0,0 0,0 0,0 0,0 -6 150 517,3 -3313619,4 -2 836 897,9
40 8190- W40 8197- 40 8198 - w40 8210)
8109 | 19" Swfuulinh Bhluwiluundnpdulp sninnduwd huduylph pinigbh 0,0 0,0 0,0 0,0 0,0 0,0 -1823495,0 0,0 -1823495,0
Uhonglbinh tnwpbuliqph wquin dlGwgnpnh gnidwpn
8200 7. 23T=20kU 20" Ua030°8 00 0,0 0,0 00 0,0 0,0 0,0 0,0 0,0
(wad 8210)
3[1 ATal
1. BAE 240 PEzaoU°d
8210 (V40 82114740 8220) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
3[1 AjasU"
1.1. Updbpnpbn (pwgwnenipjwip pwdbtnndubph b Gwwhnwned wy
8211 sy =T 645A13Y) (A0 8212+7WAD 8213) 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
4nco"
8212| - pnnwplnidhg L inbnwpuwpfunidhg dninpbn 9121 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8213| - NCUY3T3Y - aU3A¢ U3haslU 6121 0,0 X 0,0 X 0,0 X
1.2. 13fI»fA " ~AE3TTa0AladYY»A (636400 —~ U3fiaol)
8220|8891 47740 8240 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
3[1 ATal
8221]1.2.1. 13AT»A (140 8222+ w40 8230) 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
4nco"
8222| - T30 1»AG 6364l 9122 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8230[ - 6026121 1=2AT»AC NCUYST23Y -45U=AC U=AasU 6122 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8240|1.2.2. BAE 31 T46AI46YV»A (140 8241+740 8250) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco
8241| - ~AE3TT40Ala6YY»NC 6 W=064iU 9122 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
8250| - 630131 ~AE3TT140AIA0YY»AC - a0U3AC U3fadu 6122 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X




p2pi°oTiacAlasl
Eplwb hwdwyGph pynebh GlwdnnGtiph Yuwnwpiwb yhpwpbpyug
(08/01/2014-30/06/2014A. AS(=Y3T3(=TT31C N=USH)

P3TI=11

T3 13Y NSerT3 1131 arsy T3 13Y xBr 131 ar=Y FEOELS
M _ L N 3(1 AT400° S NP 31 Afas0 L o 3(1 AT400°
Ta0G TSI e STYofiA PALT=IC| AV2=U»VA 2 Arac INEEVN 2 ATa0 AV23U»VA i Ara
NN NN (8.5+8.6) =AE=3T3Y U=¢ | yay1=sicy u=e (8.8+8.9) 3AF3T3Y U6 | yav13icy USe | (8.11+6.12) | I3fa3T3Y U3e| yavis(cy Use
1 2 3 4 5 6 7 8 9 10 11 12
All 20°01A °2120a36T11° A0
1000 [AY- ?_,EJA '_ _an 1U°3 (70 690918159 | 69081 815,9 38 000,0 711082159 | 710982159 | 20182127 | 26 763696,4 | 26 762 294,5 1401,9
1100 + 140 1200+7140 1300)
31 Afasle
1. D25T°8 ©1 Tatde©d
1100 (W40 1110 + W4 1120 + W40 1130 + 7100 13920 846,1 | 13920 846,1 X 13920846,1 | 13920 846,1 X 6 280 590,9 6 280 590,9 X
rad 1150 + 140 1160)
3 Afasl’ 1.1
1110 |748lu3ICY N=3AT»A SYR3AA - 48luce (rad 1111 + 7131 4865 133,5 4865 133,5 X 48651335 48651335 X 2245 846,7 2 245 846,7 X
a0 1112)
32 Atal”
1111 Taglu=RSAT 4195 401,5 4195 401,5 X 4195 401,5 4195 401,5 X 1953 650,1 1953 650,1 X
N3US{YUY»AC T3AEST3Y T3A3TuY»hasl - 1Y Tad ’ ’ ’ ’ ’ ’
R»YU»AC ~* RCYABAIASYY»AC N2U3A
20C N3AT N2U2IYUY»AC T2R53T3Y T3S 10V »Rasl
1112 [P0 NI NSUSIYUYAC TEAGSTSY r=n=lavsfiad) 669 732,0 669 732,0 X 669 732,0 669 732,0 X 292 196,6 292 196,6 X
- Y140 N&OC N3U3h
1120 | 1.2 Tas0u=0CY N=2AT»A 3(E - 4600C6 7136 5120 467,6 5120 467,6 X 5120 467,6 5120 467,6 X 2063 607,5 2 063 607,5 X
31 ATas0
1121 Tasiu=N3aT 5120 467,6 5120 467,6 X 5120 467,6 5120 467,6 X 2063 607,5 2 063 607,5 X
+AE31/30CcadY»AG K303
1.3 2ARSYUY»AC 0- 13- 4RTU3Y T30 - afTasY»aAl3Y
1130 CATaY360SY ASIET TAIAISY TxSAV»A 7145 3560 245,0 3560 245,0 X 3560 245,0 3560 245,0 X 1784 827,3 1784 827,3 X
3(1 ATa00"
™O3T3Y
WAGAU»A (vad 1132 +
181 | 51135 + w40 1136 + 140 1137 + 40 1138 + 140 7145 3560 245,0 3560 245,0 X 3560 245,0 3560 245,0 X 17848273 17848273 X
1139 + wa0 1140 + 140 1141 + wad 1142 + 140 1143 +
a0 1144+7w40 1145+w40 1146+ 140 1147+w40
3(1 A0
=)
D3U3{YUC W= 10460 Yaf R»YU»iiG, RCYASAIAGYY»iiG
1132 (IoiSeiSE 4 RCOVSTSY) BCYSASAAAISY 152 925,0 152 925,0 X 152 925,0 152 925,0 X 70 301,0 70 301,0 X
(M»031/U3Y) AadlEw TasAI=Y K303 (ad 1133 + 1ad
1334),
R
1133 53 BCUYSTSY RCYAsAIANT»AC NSUSH 152 925,0 152 925,0 152 925,0 152 925,0 63 896,0 63 896,0
1134 wp) Ns hhoGwywh phGnipyntGGEph hwdwnp 0,0 0,0 0,0 0,0 6 405,0 6 405,0
p) Iwdwylph Jwns. tnwpwdpntd pt0ptiph, 2hGnipjntl-h,
pwnwpwhbwlwb wy opjtywn-h yipwlwrnigiwa,
26ROV T»A3T3Y-VIBY S/H1CITIV3H(I3Y
1135 [BAOSOUSY, DHASTSY-YUSY, ShigsTsyseusy 13 455,0 13 455,0 X 13 455,0 13 455,0 X 49150 49150 X

wfuwwnwbpbbp (pwgwn. 33 opblunnipjwip
&3N3V T3T RCY3ASAAAIZY AdSlETT. 48=3N=3Y¢T40
1»&0U»AC) TS 3M»tad AdslEn TasAI=Y N=U=h




1136

-) D3U3IYUC T3AEST3Y T3AS 104U B»YU»AC,
2hGnipyncGhtiph, pwnwpwhbwlwh wy) opjtywnGeph
U3Y1U3Y AGEn TasAl=Y N30

12 550,0

12 550,0

12 550,0

12 550,0

5207,5

5207,5

1137

1) D3U3YUC T3AZT040U 4-»EC6 EUGAUY»AC ** (T3U)
TESE4ATC 3AT31ABYUC T3x380C, CeT N3YA3(gY
uliGnh opybilinGbpnLd™ nqbithg fudhspGiph L (Yuwd)
TE3E4ATC 3AT31A3YUC CA=6U3Y AddlEn Ta0Al=Y
N3U=h

366 100,0

366 100,0

366 100,0

366 100,0

260172,3

260172,3

1138

) Iwdwylph tnwpwépnLl pwgopjw Jwdwnp
T30S T»i8»E40 AGIEW Ta6AISY N30

88 030,0

88 030,0

88 030,0

88 030,0

56 323,8

56 323,8

1139

1) B3U3(YUC T3A3 104U N»0asT T3é»ECuc, é»0UT31
plwlwb Ywd henniyugywé Guypwihl qugbnh
USYASTSE 3¢ 1AC T»T»hasl N»048T T=3é»ECuc
(Ywd) ubnuywé plwlywh Ywi hbnnyuwgdwéd Gudpuwyhh
-3¢ T IHEYCTST3Y N»040TY»AC T3x360U0

A&dlEn TasAlIBY N=3U=h

80 150,0

80 150,0

80 150,0

80 150,0

67 831,3

67 831,3

1140

¢) D2U3VO¢ w=i= 104l 3¢ wAC, NSYASIGY 8YY1c,
BISAX3YUC, R3NA0UAT E30»AC ~ ICxST3E30»AC
Ywqiwybpwiwl opjynbtinp, pwnlhpGtnp
(6345Y3Y»iiA), E3031Y»iA ASUA 24.00-Co fi»1a
SRE3»Ea0 AdslEw Ta0AI3Y ASU3h

104 223,0

104 223,0

104 223,0

104 223,0

132 340,1

132 340,1

1141

A) D30=30=30303(CY TSYAYY»ACY NSUS&3TSEE3Y
ofi3y u=20=30¢  0=0=203(CY N=U3{YaY»ic

T3S 104U AY I3V T»Y13Y0Y»A A=N»Eas

R&lEn TasAI=Y N=0=3h

1440,0

1440,0

1440,0

1440,0

987,5

987,5

1142

R) D=USIVOC WA= 1Ua00 SAT=UCY -ar=it
W03 1iintas ASIE TAAISY R30S

1601 740,0

1601 740,0

1601 740,0

1601 740,0

663 712,7

663 712,7

1143

A) B3UBIYUC BAECTCO 36T 3A0AAC A3 Tx»Y»Y

3760,0

3760,0

3760,0

3760,0

1596,0

1596,0

1144

dw) Iwiwylph lmwpwdépntd (pwgwnenipjwdp pwnwjha
hwiwjbpGtiph) dwpnwwwp nwpunt (pwgwnrnLpjwip
»AAA03(CY I BUECY»AC) T363[a0AI40Y CAZTSY36Y»E4D
RadlEw TasAl=Y N=U=h

1390,0

1390,0

1390,0

1390,0

790,0

790,0

1145

dp) Pwlywndbip dbnwnlbiphg wwwnpwuwnyws hpbiph
USYASTSE 364013x3¢0C AddlEn TasAl3Y N3U=3h

51 700,0

51 700,0

51 700,0

51 700,0

53 201,0

53 201,0

1146

) Ziral 20=Y= 100 N2U3h

1 000 000,0

1 000 000,0

1000 000,0

1000 000,0

398 708,0

398 708,0

1147

A1) p=03{Y0¢ T=2A= 104U - Y740 E3Ya0AY»fadU,
TAASTY»Ma00 W»EYCTSTSY N»0a51V»AC T3x360C
AadlEw TasAl=Y N3U=3h

20 740,0

20 740,0

20 740,0

20 740,0

20564,3

20 564,3

1148

A») B=0=IY0¢ T=ii=Tuadl N3YA=CY YY1
T3%U3T»A03Y ~ CA=oU=Y AaslEn TaAl=Y N=0=d

61 042,0

61 042,0

61 042,0

61 042,0

47 776,7

47 776,7

1149

Aw) D2(2613Y¢ D3YASA»TAAIBY NBUS(YUY»AC
3YT3Y4UY»AA yCAUSICY 3YT3Ya5UY»hasU
0-T=-aii»E40 AGOlET Ta0AI=Y N=0=i

1000,0

1000,0

1000,0

1000,0

400,1

400,1

1150

Ay) 20 7»03T3Y vadfo»h

0,0

0,0

0,0

0,0

0,0

0,0

1150

1.4 2AA3YUY»AC UST3T3/3A400C6
263(a0Ala0YY»AC U31a664a6UCo 3 A3AT31CA
Ix3AY»h

7146

375 000,0

375 000,0

375 000,0

375 000,0

186 309,4

186 309,4

1151

31 AT40
Swdiw)lph pjnLob
ix3f1a0 8> 313Y vasiuri (w40 1152 + w40

375 000,0

375 000,0

375 000,0

375 000,0

186 309,4

186 309,4

1152

31 AT4sU"
=)
sl - i3YO»E4d, L1AZY6

220303603 T3Y T23640A13Y 311
USECY 0B0SUBECY-ACY TRTYSTC TTSIST3VmA,
20302360313 T3640AISY STT»Aail T3T3AT31
-fizéa0UY»fadl +a+aEA40AIAsYY»fi, EA3646UY»A,
400040UY»f T3 T3fintad ™ T»AZT3Y - YUY
Jwwwygnipjwip yywjwywbbbp mwint hwdwn

75 000,0

75 000,0

75 000,0

75 000,0

34 649,2

34 649,2




1153

p) Lnnwpwlwb gpwubbywybbiph Ynndihg Gninwpwywb
12¢3(40A1a0YY»fi TS 3fi»Ead, YA 3AST3Y T3/-41
YRT2T USAUCYY»AC TAOUCH - ARTSAUY»AC YSES - I»f
10UABUY»fi T3%U»EAD, +3&1SA0RAC A3 x»YY»i
N=3Y»E46 ™ 1i=Y606 03012 TuY»A w3t4s N2U=3h

300 000,0

300 000,0

300 000,0

300 000,0

151 660,2

151 660,2

1160

1.5 2[E N3AT3ICY »13Va0 1 V0 (wab 1161 +
w40 1165)

7161

0,0

0,0

0,0

0,0

0,0

0,0

1161

=1 ATa0°

Gf»YUair
whnwywh pynigt wipwandnn hwpybiphg b wyg
ASATS1CH Tx3AAY»Co USEN=YaiUY»i N=U3(YuY»Ac
pinwokilGbip (innn 1162 + winn

0,0

0,0

0,0

0,0

0,0

0,0

1162

anco’
3) oT=0w=N=A1

0,0

0,0

0,0

0,0

0,0

0,0

1163

p) Gwhnipwhwply

0,0

0,0

0,0

0,0

0,0

0,0

1164

q) Opbilipny whwnwywh pynLebhl wipwagnynn wy|
NSAT»ACO ™ ASAW3LCH TxSAY»AC6 TS T3iT40
U=el=VasUY»hA° lasn=0=3Yalaon w32 &» 313y
pjnLotih dwuhG opkiGpny uwhdwbynn swihtpny

0,0

0,0

0,0

0,0

0,0

0,0

1165

3nnh hwpyh L gnyypwhwpyh qény hwdw)bph pjnLob
JawpniiGbiph pwquywnenid pwgwhwjnywd hwpluwhb
Gf»Ye1fiasAl=Y E3EAIUY»AC N=30U=A NSAT3T4aY»AC0
-3Y0140 adlA»f T ad- SYUY»h, afayu d»Y
hwquwnyyntd wyn hwpytiph gnudwpbbph Gyundwip

0,0

0,0

0,0

0,0

0,0

0,0

1200

2. a2pTal2T120 | 52@2pUaspues (40
1210 + w40 1220 + w40 1230 + w40 1240 + w40 1250 +
140 1260)

7300

17 815 812,6

17 815 812,6

0,0

19 933 978,3

19933 978,3

0,0

9409 579,1

9409 579,1

0,0

1210

=1 Atasl’

2.1 AYA=o6CT Siw=ucY
A3RTaY=T=3Y 1iA=03RVaANY»A° 6720131 =t
é»'l‘éﬁ/lUéﬁW»ﬁCé

7311

0,0

0,0

0,0

0,0

0,0

0,0

1211

=1 Atasl

Swiw)lph pjnLob
Uasmru=-ifad SAT300Y &3RvaY313Y
LAZUSRYAANY» 6W=26T=T 3k &»1asAlasYY»ic
T»03T3Y CYUYST363 T3AUSY USAUCYY»AGo AYAZ6CT
12Eé»iC yCYSYESTaiU3Y YAST3Tal

0,0

0,0

0,0

0,0

0,0

0,0

1220

2.2 TSACTSE 3AT3ACY A3FTAY3T3Y
LRSUSRYATRY > ETS6T=T SiE &»WasAlasTV»Co

7312

0,0

0,0

0,0

0,0

0,0

0,0

1221

31 ATasl

P3USIVIC
pynob Untinpwagnynn wpnwpht wwnnGwywh
1ASBUSRYAANY»A" 636131 3k B»TasAlasYY»AC
T0ST3Y CYUYSTS63 T30 USAUGYY»ACo
T3ACTSE ISES»AC yCYSYe3Tanl3Y Ya3w3Tai

0,0

0,0

0,0

0,0

0,0

0,0

1230

2.3 AYAS6CT SATSACY A3RTAYSTSY
1A2U3RYARNY»A" 8026131 UCc3%- 3cY
T34%UST»AAA0AIATYY»ACO

7321

0,0

0,0

0,0

0,0

0,0

0,0

1231

=1 Afas0

Swdw)bph pjniok
Uasmru=-ifad SAT300Y &3Rray313Y
LAZUSRYAANY»A 6W=26T=1 UGe=Y- SCY
T3UUST»&40AI46YY»ACO AYASECT TSEé»AC

0,0

0,0

0,0

0,0

0,0

0,0

1240

2.4 T2ACT3E 3AT3UCY A3RTAY3T3Y
1A30U3RYAANY»A 6136731 UCe3%- (Y
T3%U3T»hA84a0A14a5YY»ACo

7322

0,0

0,0

0,0

0,0

0,0

0,0




1241

=(1 ATasl

Swiw)lph pjnLob
Uasmru=-ATad SAT30cY &SR WAY3ST3Y
LASUSRYAANY»A 126131 UG- 3lCY
T33%U3T»i&40A1a6YY»ACo TS ACTS3E ISEé»iiC

0,0

0,0

0,0

0,0

0,0

0,0

1250

2.5 AYA36CT Y»AUCY A3RTAYZT3Y 1A3U3RYAANY»A
36121 126212A0=2Y 3(E UST3A12TV»ACo

(w40 1251 + w40 1254 + w40 1257 +
140 1258)

7331

17 815 812,6

17 815 812,6

19 933 978,3

19933 978,3

9409 579,1

9409 579,1

1251

anco’ 3)
Mbwnwyw pjnobihg $hlwluwywl hwiwhwppbgiwh
ulgpntlpny npwidwnpynn nninwghwtip

10 432 939,7

10 432 939,7

10 432 818,1

10432 818,1

5216 409,1

5216 409,1

1254

p) MEwnwywl pjnebihg tnpwdwnpynn wyp nninwghwbn
(w40 1255 + a0 1256)

0,0

0,0

2000 000,0

2000 000,0

1 000 000,0

1 000 000,0

1255

=1 Atasl

pw) Iwdwybph pjniptih Gwdntinbbpp GJwqbiglnn™ 33
opkGpGtph Yhpwnydiwb wpnynilpned hwiw)lph pjncpbih
»I2BUATTY»AC Tan&eY»AC &»1asAl=Y Tadugo

0,0

0,0

0,0

0,0

0,0

0,0

1256

pp) wy| nnunwghwbp

0,0

0,0

2000 000,0

2000 000,0

1000 000,0

1000 000,0

1257

q) Mbnwywh pjnpbhg npwdwnpynn Gwwwnwlwjhl
hwunlwgniiGbp (unipytlghwGbn)

73828729

73828729

7501 160,2

7501 160,2

3193 170,0

3193 170,0

1258

n) 33 wj| hwdw)GpGtiph pynietiliiphg plipwghl dwuutinh
YOY3Ve3Tanl=y YAST3Tal 6136140 A3RTaV3T3Y
1A=U=RYARNY»H

0,0

0,0

0,0

0,0

0,0

0,0

1260

2.6 T2ACTS3E Y»AUCY A3RTaY313Y
LHFBUSRYARNY > 802612 T 1262 T200=Y (¢
UST2A12TY»AC6 (w40 1261 + a0 1262)

7332

0,0

0,0

0,0

0,0

0,0

0,0

1261

SR

=)
Mbwnwlwh pjniobhg Yuwuwhww) Swiuubiph
yCY=YE=31aiU3Y YASWST3(CY N3 T364iUY»h

0,0

0,0

0,0

0,0

0,0

0,0

1262

p) 33 wyp hwiw)lpltphg Ywwhwnw| wfuubtiph
YCY2YE3T4AU3Y YA3T3TAT 6136140 A3RTAY3T3Y
1A3U3RYAANY»f

0,0

0,0

0,0

0,0

0,0

0,0

1300

3. 2UE °T2ga6TU°8 (rad 1310
+ a0 1320 + w40 1330 + w40 1340 + a0 1350 + 740
1360 + W40 1370 + w40 1380 + a0 1390)

7400

37 355 157,2

37 345 157,2

38 000,0

37 253 391,5

37 243 391,5

2018 212,7

11 073 526,4

11072 124,5

1401,9

1310

31 Atasl
3.1 TalaéY»ii

7411

0,0

0,0

0,0

0,0

0,0

0,0

1311

=[1 ATasl

af»Yoar
Gwhuwwnbudwd nbwptinnid pwaybpnid hwdw)bph
pjnLotih dwiwlbwywynp wquwn thongltiph
wnbnwpwyhuntihg L nbwnghwnGbphg unwgywsé

0,0

0,0

0,0

0,0

0,0

0,0

1320

3.2 GwhwpwdhGGbp

7412

94 464,0

94 464,0

94 464,0

94 464,0

68 081,2

68 081,2

1321

=1 Al

“BAY»UCAZT3Y AYT»A40AIA6YY»AasU N2U3(Yug
Jwulwygnipjwl nhdwg hwidw)lph pjneb uwwnwnynn

94 464,0

94 464,0

94 464,0

94 464,0

68 081,2

68 081,2

1330

3.3 (4600 T3A0ST3EA0AIAYCO »T3VAT Y»f (140
1331 + w40 1332 + w40 1333 + a0 1334)

7415

1203 314,0

1203 314,0

1203 314,0

1203 314,0

416 394,6

416 394,6

1331

31 At
p=U=(Yug
&»--=13Y40A040Y N=U=ii140 NaO»fiC T=A0ST3Ea0AI=Y

636 184,0

636 184,0

636 184,0

636 184,0

289 162,9

289 162,9

1332

D=U3VUC T=2Ra=T2Y W2n=10a00 - WY 140 a» 1= 12Y
8»+=3T3Y4a0Ala6Y N=2U=3fT40 NAO»AC TSRO T3EAAISY
TSR0S Ix3AY»h

0,0

0,0

0,0

0,0

0,0

0,0

1333

D2U3(YUC T2AEST3Y T3A3 104U - 1Y 740 &»TasAl=Y
~ NSUSIVUC e»+3T3YAAIBYA &3TT3V40
la0=U=e»A¢ T=26456=2=WU=Y CA=T4Y0G 10U=6

- 370740 T30 Ix2AY»h

50 000,0

50 000,0

50 000,0

50 000,0

53 507,6

53 507,6

1334

2 - &0IUC 1 2R0=TEABAIAGYCO VAo Ui

517 130,0

517 130,0

517 130,0

517 130,0

73724,2

73724,2




1340

3.4 3wiw)Gph pjniptih EYwdninbbp wwpwbplbph
UST3T3a3A400C6 ~ 1=63(40A1a5YY»AG US1ai6asUco
(040 1341 + a0 1342 + 740 1343)

7421

31 536 665,0

31 536 665,0

31545 665,0

31545 665,0

8 483 826,3

8483 826,3

1341

31 At

p=3U=lvug
E»+=3T3Y45Ala0Y N3Y1Ce=0640, 31 AT4iU" WCASKAGHT,
N=3US{YUCY afid»e e»+3T3YasAlasy 3631
wwpwlpltph (pwgwrenipjwdp hhiGwywh dhong, ny
Ojntpwwl Ywd pwpépwpdtip wynhy hwlnhuwgnn,
CYad»e Y= (=U3{yuc &=NaserY»nasl &=NT1ad
SARSYUSYIAAST3Y SAA»0Y»AC) T3x3¢0C6 VAT Tumi

0,0

0,0

0,0

0,0

0,0

0,0

1342

a»ratAl3Y Tabuco 1»03T3Y CYUY3T363 13A/U3Y
USAUCYY»ACY &3 ICA3T =T EC3%ARA0AIATY Y »fiC
CAST3Y36U3Y ISE&»AC yCY3Ye31anl3y N=03d
whbwnwywb pjnpbihg unwgynn dhonglbn

31 358 025,0

31358 025,0

31367 025,0

31367 025,0

8413 958,3

8413 958,3

1343

afi»Yuar e2NU3Y =1 1»&0»Aasu N2U3Yu3icy
NGUYSATY»AG TA0UGH 363Y6 1»03T3Y adhuG
-3Y0U=3Y U=Ta06T140 1=263{40A046YY»AC T=U
T3 30140 -anT1a04asAla6YY»AC 10U=6 6026140
(-3Y01a0) 3l Ix3iY»i

178 640,0

178 640,0

178 640,0

178 640,0

69 868,0

69 868,0

1350

3.5 122 T3Y - 3Y04iUY»h (w40 1351 +
140 1352)

7422

4001 014,2

4001 014,2

4001 014,2

4001 014,2

1850 769,2

1850 769,2

1351

31 AT40
DO3T3Y Ix3iY»h

3701014,2

3701014,2

3701014,2

3701014,2

1624 955,1

1624 955,1

1352

D3U3{YUC T=E=T3Y r=i=1uasl CYay=1T3U
T3€406T=1 R»YU»iiG, RGYASAIAGYY»AC OACYSTIY36USY
N=U=h Tx3AY»i

300 000,0

300 000,0

300 000,0

300 000,0

225814,1

225814,1

1360

3.6 Q&0 I U»A TAUASACH, Ta0- SYUY»ACo (140 1361
+ 140 1362)

7431

184 600,0

184 600,0

184 600,0

184 600,0

160 584,1

160 584,1

1361

31 Ajasl

13HST3Y CAS TBESETA0V»AC NBUSA T»0313Y
CYay=T=6=7=iil=Y U=AUCYY»AC TablGo
83TV T40AIY UCcadY»AC TCR=640UC6
>>.|.3Uéﬁ-l_Y»ﬁ

184 600,0

184 600,0

184 600,0

184 600,0

160 584,1

160 584,1

1362

Untinptip hwdw)Gph pjniptih Guwndwdp unwbdbwd
a=3U=y=-[=lCY &=AT=TanasAlasyY»Ac aI=r=il=yY
1CU=6 - 3Y0i1a0 TailA»fico

0,0

0,0

0,0

0,0

0,0

0,0

1370

3.7 AYA=6CT 43 A3RWAY3T3Y 1ASUSRYAANY» 1
(rad 1371 + w&0 1372)

7441

0,0

0,0

0,0

0,0

0,0

0,0

1371

31 Arasl

UGHCT3T3Y 3V03Y6
L YuwqowybpwnipyntGatiph Gyhpwptinnipynibhg
hwdwylpha, ytpphthu GGpwlw pjniptiinwhl
NGUY=ATY»AC WYORAGYUSYY =3Y6=T -adlug (NCUy=sT3Y
UGGAd T3U ad YIAA3T3Y STWCT aN=3Y1Ce=3640)
Cii=640UGo ~ 1AZUST3Y UGgadY»iico AYAS6CT
Swiuubiph $hlwluwynpdwl hwiwn hwiwlph pjneb
&W261=1 Va5 wo»A’ TASUSLATST SAT300Y
wnpjninltinhg

0,0

0,0

0,0

0,0

0,0

0,0

1372

UCKCTST3Y 3Y03Y6 ~ T3KUS T»AAA0AIA0Y Y»fiG
Gyhpwptipnipynthg hwiw)Gph, ytpghGhu Gapwlw
pynepbitnwhG hhdGwnpybbph nbophGowGb whgwd gniyph
(NCUY=T=Y UCgad T=3U 44 YiaA3T3Y 3TwCi
iN=Y1¢e=640) CA=6460C6 ™ 1AZUST3Y UGGA6Y»fico
AYA=6CT T2E&»AC yCY3Ye314aAu3yY N=3U=a N3U3ivac
pjnLot unwgywé uninpbin® npwdwnpywé GepphG
wnpniplbiphg

0,0

0,0

0,0

0,0

0,0

0,0

1380

3.8 T2ACT3E 43 AR TAYST3Y 1ASUSEYARNY »h
(ra0 1381 + wad 1382)

7442

10 000,0

10 000,0

10 000,0

10 000,0

0,0

0,0




1381

31 Arasl

UTCA3 T TasAI3Y,
A=é3V .- 40AI3Y CAZTA0YUAT yCHCTST3Y 3Y03Y6C6
T3U3T»R4a0AlaoYY»1co N3USIYUCY, T»ficCYCe
Ghpwlw pjniptitnwyhG hhdGwpyGtph tnGophGuwbG
3v631 - &0luC (NCUYST3Y UCcas T3U 44 YIaASTSY
STwCT al=Y10e=640) Gii=6ailco " 1ASUST3Y
UCCAOY»TCO TBACTSE [SEEAC yCY3Te3 1afl=y
hwdwp hwiw)lph pynept unnwgywé dnuinpbip’
npwiwnpywé wpnwphb wnpnipGbphg

10 000,0

10 000,0

10 000,0

10 000,0

0,0

0,0

1382

UTCA3 T TA0AISY, A3é3Y - AAIBY CAZTadYUAT
YCHCTST3Y BY03Y606 ~ T3%UST»A&40AIAYY»ACH
hwdwylpha, ytpghthu Gapwlw pjniotiinwjhl
NCUYSATY»AC wYAACYUSYY 3Y6=31 -adluc (NCUYST3Y
UGgad T=U ad YIaA=T3Y ST CT aN=Y1Ce=640)
CA=646UCo ™ 1AZUST3Y UCcadY»fco TSACTSE
Swhuutiph hpwlwlwgiwb hwdiwp hwdwyGph pjniob
36131 VAmusA’ WASUSIATST Y»Augy
wnpinipltinhg

0,0

0,0

0,0

0,0

0,0

0,0

1390

3.9 2k » T3V Y»f
a0 1392 + w40 1393)

(w40 1391 +

7452

325 100,0

325100,0

28 000,0

214 334,3

214 334,3

2008 212,7

93871,0

92 469,1

1401,9

1391

S ENE
D3USVAC - AdICY
833631 TY26Y»AC +4EN=1a0640UC6 VAT Uxfi

0,0

0,0

0,0

0,0

1401,9

1401,9

1392

Jwpswyw pynobih ywhniuwinwihb $nlnhg dnlnwyhb
pjnob ywwnwpynn hwuinywgniiGbphg dninpbip

28 000,0

28 000,0

2008 212,7

X

2008 212,7

0,0

0,0

1393

afi»Yoar " CAZT=T=2Y = =Tw»far e=N0=3Yi=T
hwdwylph pjnLpth dntinpwgniwl Gopwyw wyp
»'|'3Uéﬁ-l'Y»ﬁ

325 100,0

325 100,0

0,0

214 334,3

214 334,3

0,0

92 469,1

92 469,1

0,0




P3TI312
p2pieTiadAlacU
Gplwl hwdiwylph pjnpbih Swiuubph Juwnwpiwh Yepwpbpjug
(08/01/14-30/06/2014A. A3U=3Y3T3(=7 =3 1¢ N=30U=3A)

(N=%=3f 1A3U4T)

T3i»T3Y (Bew3Ti31 &E3Y T3i»T3Y xR i31 &E3Y O3ET30C
| T3 | EdoU ) “lage»w3ICY TSES»AC - afT3e3T3Y 1363134 - 03Y . s AYLZU»YA
1a0 p 3¢ 13 S N 13 S N - N
NNC Av| g |- pwohGGtinh, fudptinh L nwutinh wijwGinudGhng AYEEUSYA s Afal AYEEURYA s Afadl =2 A7l
Jupswywa pynigti | $nlnwyhG pjnLob Jupswywa pyngt | $nlnwyh pjnLob Jupswyw pyngt | $nlnwjhl pjniok
(8.7 + &8) (8.10 + 811) (8.13 + 614)
1 2 3 4 5 6 7 8 9 10 11 12 13 14
AU _2@°0A 12Eé°8
2000 | x | X X (W402100+ 1402200+ 1402300+ 402400+ 402500+ 1462600+ 69 491 815,9 69 081 815,9 438000,0 72901 634,2 71098 215,9 38116310 22 428 597,4 23 448 675,1 -1020077,7
1402700+ 1402800+ 1402900+ 1403000+ 1403100)
AU _b20266 ~UasUAL 208200 T2&20a0AUa0600°8
2100 [ 01 0 0 | (ra02110+1402120+ 1402130+ 1402140+ 1402150+ 1402160+ 1402170+wa| 7 776 684,2 7108 810,4 667 873,8 77723418 7 100 894,4 671 447,4 2906 318,4 2734962,8 171 355,6
02180)
3 A4l
UA»Y&10h - aRT31CA USAUGYY»A, &»T3T3Y T363 131400,
2110 [ 01 1 0 yCY3Ye3T3Y ~ N3A13p)niptin3ICY N3A3ptipnipyniGatin, 7216 733,5 6 875 359,7 341 373,8 7217 436,1 6 874 488,7 342 947,4 2790 452,3 2674 780,9 1156714
2AT20CY N2A=plipnup)nLllbn
AfCo
2111 ( 01 1 1 Gfi»Y&1Ch ~ -aAT=1CA UBAUCYY»A,&» T3T3Y T263 1340 7216 733,5 6 875 359,7 341 373,8 7217 436,1 6 874 488,7 342 947,4 2790 452,3 2674 780,9 1156714
2112 | o1 1 2 Shlwluwlwh b hwplywpjnpbitnwihG hwpwpbipnipyntGGbn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2113 | 01 1 3 Upwnwphl hwpwptipnipyniGatip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2120 | 01 2 0 2RATSUCY TY I »E3T3Y (- YaoAlaoy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2121 | 01 2 1 2RT20CY WY »E3T3Y 2¢31640A046Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
BCc3%- 3CY TSHUBT»NAAAIATY Y»AC UGcasal TAZU31AT4a0
2122 | 01 2 2 TV TE3T3Y 0. VASAIASY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2130 [ 01 3 0 CGnhwnip plnyph SwewjnipyntbGhbip 72 050,7 72 050,7 0,0 72 050,7 72 050,7 0,0 16 342,7 16 342,7 0,0
anco’
am| o1 | 3 | 1 Uzuurnuuidh Aunntinh/ gony nlnhwGnin plntph 72 050,7 72.050,7 00 72.050,7 72 050,7 00 163427 16342,7 00
1363140AIA0YY» M
2132 | 01 3 2 TA=-AU3Y ~ 1Cx3T2-A3T3Y AV1=V4a0h 1363140A040YV»ii 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2133 | o1 3 3 LGnhwnip plniyph wy) SwnwynipyntGitip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2140 [ 01 4 0 CGnhwnip plnyph hinwgnunwlwb wfuwnwbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco’
2141 | o1 4 1 Clnhw(nip plnyph hbnwgnunuwlwh wfuwwnwip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
250 | o1 | 5 ) EanhwGnin pinyph hwlnuhl SunuynipnGltinh oony 326 500,0 0,0 326 500,0 328 500,0 0,0 328 500,0 55 684,2 0,0 55 684,2
N> SHLATSTIY " VSES. [3(CY SRESW3YUY»A ' ’ ' ’ ’ ’ ’ ' ’
AfC6
CGnhwnip plnyph hwbpwyhG SwnwynipyntGbtp qény
as1| o1 | s 1 Ry =TaY - Y3, [y SRESw>Yoiuf 326 500,0 0,0 326 500,0 328'500,0 0,0 328 500,0 55 684,2 0,0 55 684,2
2160 oo | 6 | o | ClnhwGninplnuph hm“gggﬂ_f;gggggw"m“hﬂ (il muuuinhG 161 400,0 161400,0 00 154 355,0 154 355,0 00 43839,1 438391 00
AfiC6
210 o | 6 | 1 | PONWOnPORUPRILERAET QuBnIMLAGE (WL nutnhd 161 400,0 161 400,0 00 154 355,0 154 355,0 00 43839,1 43839,1 0,0
2170 [ 01 7 0 a»T3T3Y &3 UC - TaT - 4R 136YasAlasYY»h 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
ARC6
2171 | 01 7 1 a»r3T3Y &3ATUC - TaT -anT12éYasAlasyY»h 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2180| o1 | 8 | o [ “wewdwnnipjuwlnwnptn dwhwnnullth dhol hpulwlwgynn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
pGnhwGnip plnyph tnpwludbipnGbp
AfiC6
281 oo | 8 | 1 | Wwmwdwnnipiwl tuinplin SwhwpnuwlGtnh Ghel Apulwbuglnn 00 00 00 00 00 00 00 00 00
pGnhwncp plniph tnpwGudbipnbbp
AfCO’




2182 | 01 8 1 - npwdwbnphltip 33 whnwlw pynepthh 0,0 0,0 0,0 0,0 0,0
2183 | o1 8 1 - npwdwbnphGbn 33 wy| hwdw)Gpbiph pyniptGbphG 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2185 | o1 8 1
2200 | 02 0 0 a2ptTa2UacAlasy (&02210+2220+7402230+1402240+71402250) 41 870,0 41 870,0 0,0 41 870,0 41 870,0 0,0 18 528,0 18 528,0 0,0
3[1 AT46U"
2210 | 02 1 0 e3%U3T3Y A3RTA3YasAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2211 ( 02 1 1 e3yU3T3Y 43T aA3VaoAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2220 [ 02 2 0 2303036C313Y A3RTA3V40AI40Y 22 000,0 22 000,0 0,0 22 000,0 22 000,0 0,0 10 481,9 10 481,9 0,0
AfC6
2221 | 02 2 1 2302036C3T3Y &3/ A3VA0AlasY 22 000,0 22 000,0 0,0 22 000,0 22 000,0 0,0 10 481,9 10 481,9 0,0
2230 | 02 3 0 2AT30UCY 63%UST3Y 0- YasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
ARC6
2231 | 02 3 1 2AT200Y 634%UST3Y Q- YasAlaoy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
20| 02 | 4 | o |PWSHANSISYTYSES-ISIOY SIESYSYUA ASTYASYARAISY 00 0,0 0,0 00 00 0,0 00 00 00
acafinaoy
AfiCo
20| o2 | 4 | 1 |PPTSHANSISYTVSES isﬁzﬁi@;i‘-ww”ﬁ ASTTASYaAISY 00 00 00 00 00 00 00 00 00
2250 [ 02 5 0 A3 TA3VAAIAY (3 138»ACY 3a31T3Y40) 19 870,0 19 870,0 0,0 19 870,0 19 870,0 0,0 8 046,1 8 046,1 0,0
AfC6
2251 [ 02 5 1 A3RTA3YA0AIAY (BE 126»ACY 4&=31T=3Y40) 19 870,0 19 870,0 0,0 19 870,0 19 870,0 0,0 8 046,1 8 046,1 0,0
92825212120 T287, 201 T207a0A0a00 ~ 272120
2300 | 03 0 0 fas1a0U°asAlasU 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
(ra02310+717402320+ 1402330+ 1402340+1402350+ 402360+ 1402370)
3 Ajasl
2310 [ 03 1 0 D3E3AST3T3Y I3 ~ 3V T3Y - aAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AC6
2311 | 03 1 1 A8WCI=YaoAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2312 | 03 1 2 24 3Gy 3YT03Y - 46Al46Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2313 | 03 1 3 a»r3T3Y &3N&=3VasAlay 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2320 | 03 2 0 OnT3A=n 1=26340AlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2321 ( 03 2 1 OAT3A3A 1=363]a0AlaoY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2330 | 03 3 0 L3T3T3Y - aRT40Y»40A140Y ~ CAZT3T3Y A3RTA3Y40Al40Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2331 03 3 1 Sl i dnl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2332 | 03 3 2 ERST3T3Y 838 w&=YasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2340 | 03 4 0 . BT3E3%a0Ala6Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2341 | 03 4 1 L ST3E3%40A046Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2350 | 03 5 0 T3E3Y2T3(f»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
AfC6
2351 | 03 5 1 T3E3Y=213f»iA 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
20| 03 | 6 | o |DVIANST 3Ylg°nY§E33Y'jUgYY ot sl NSESAE IS 00 00 00 0.0 00 00 00 00 00
AfCO’
21| 03 | 6 | 1 D”'-Bv‘é"'s"'sifl.iﬁﬁvi'?Z'Y.E/SUCY, SBESTETULA NSes=T=T=y 0,0 00 00 0,0 0,0 00 0,0 0,0 0,0
20| 03 | 7 | o pSesASISISYI=A- - .BYZ;@M“Y (ST 2Semncy 00 00 00 0.0 00 0,0 0,0 0.0 00
anco’
| o3 | 7 | 1 pResR=I=T=Y 'Sﬁ'aéir_{.;:é)é“‘\“é"y (B r=encY 00 00 00 0.0 00 00 00 0.0 0.0
TUTee2120 p252" 23a6AUa0U°d
2400 | 04 0 0 | (w402410+71402420+7402430+ 1402440+ 1402450+ 1402460+ 1402470+74 9584 418,0 15081 171,9 -5 496 753,9 10 518 650,1 15 367 513,7 -4 848 863,6 1304 166,4 3970 294,5 -2 666 128,1
02480+ 402490)
=3 A4l
2410 04 1 o Lanhwanep plneyph nbGunbuwywl, welinpwihb b wfuwwnwbph qény 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

hwpwpbipnipyniGltip




4RCO™

2411 | 04 1 1 [ eGnhwGnip plnyph nGunbuwlwh b webinpwihG hwpwptpnupynlGatp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2412 | 04 1 2 [U2huwwnwGph htin Yuwwywé pGnhwbnip pGnyph hwpwptipnupynibGtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2020 | 04 | 2 | o |THAOOSTYIEAADY, SYWSESICY TVI»eaAa0Y, OTYANGAOAlDY ™ | - 363 300, 00 3633000 3633000 00 363 300,0 76 569,0 0.0 76 569,0
aneantasAlaiy
anco’
2421 | 04 2 1 Mias0=wYr»eashlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2422 | 04 2 2 2YW263(0Y WY »easAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2423 | 04 2 3 OTYaneasAlasy ~ aneantashlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2424 | 04 2 4 aé4-ail 363 300,0 0,0 363 300,0 363 300,0 0,0 363 300,0 76 569,0 0,0 76 569,0
2430 | 04 3 0 F2E»ECU 7 (VoA -»TCT=2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
2431 | 04 3 1 Pwpwénthu b wyp Yupdp plGwlywh Junbihp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2432 | 04 3 2 Lwypwdiptipp L plwlywb quq 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2433 | 04 3 3 BCcadl =Gy i=é»ECu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2434 | 04 3 4 126000 3 »E3TY»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2435 | 04 3 5 WETTAS YA -G 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2436 | 04 3 6 aa (B TTASTRY (Y»A-C=2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2440 | 04 4 0 LtnGwwpmyniGwhwinid, wpryniGwpbpnipyntb b 2hGupwpnipnil 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
. . 4 1 SwlpwjhG nbuntpulbiph wnm;];ﬁ;tg&gnm, pwgwnenipjwip pGwlwb 0,0 0,0 0,0 00 0,0 0,0 0,0 0,0 0,0
2442 | 04 4 2 UpryniGwpbipnipyni 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2443 | 04 4 3 PCY=f=faoAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2450 | 04 5 0 TH=Yedanr 16 358 743,5 13986 091,1 2372652,4 23 283 408,4 14 206 573,1 9 076 835,3 3685 295,4 3407 236,4 278 059,0
anco"
2451 | 04 5 1 x3Y283ANSICY TASYeA4RT 8567 070,8 6 331 483,3 2 235587,5 15 427 653,7 6 487 883,3 8939 770,4 2161 924,3 1923 320,7 238 603,7
2452 | 04 5 2 @f=ICY TA=Ye&anT 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2453 | 04 5 3 °nT=A40=1CY TA=YedanT 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2454 | 04 5 4 G13(CY THSYeAART 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2455 | 04 5 5 Ea0ar=313R=23n3(gY ~ 3 wASYelanT 77916727 7 654 607,8 137 064,9 7 855 754,7 7718 689,8 137 064,9 1523371,1 1483 915,7 39 455,4
2460 | 04 6 0 =4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
2461 | 04 6 1 =3 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2470 | 04 7 0 Uj| pGwquduwnlbn 15 000,0 15 000,0 0,0 15 000,0 15 000,0 0,0 0,0 0,0 0,0
anco”
aart| oa | 7 | 1 | @ISISETUSYASISE SETTAN, SARBVIT-AC A=NA=val 00 00 00 00 00 00 00 00 00
a3»enr3ianal
2472 [ 04 7 2 3jnipwlnglbip bW hwuwpwwlw uGlnh opjtlwnGtin 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2473 | 04 7 3 2pnuwnontpntl 15 000,0 15 000,0 0,0 15 000,0 15 000,0 0,0 0,0 0,0 0,0
2474 | 04 7 4 Qunqugiwh pwqiwlwwwnwl dpwgntp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
SOunbuwlwh hwpwptipnipyniGGtiph gény htnwgnunwywh b
2480 | 04 8 0 YRE=. [200Y 2REZT2Y0T»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco”
Canhwnep plnyph nbGnbuwlwl, welinpwihG b wfuwwnwbph
24811 04 8 ! N=370»iC - TAT »T3%AT3T3Y " Y2E=. [3(CY SREZT3YuY»A 00 00 00 0.0 0.0 00 0.0 0.0 0.0
Mas0=TYr»6asAl=2Y, Y1263y T
2482 | 04 8 2 anean1asAl=y - Tar I rshar3T3yY " Y2ES- 13(gY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
SREST3YUY»A
F3E»ECUC ™ (Y»ii-»WCI3(C - TAT I»T3%aAT313Y " Y3E3- 13((Y
2483 | 04 8 3 ERESTEVUVaf 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
LenGwwpryniGwhwGiwh, wpmyniGwptpnipjwb b 2hGwpwpnepjw
2484 | 04 8 4 -Tal W Ir3Ra 313y~ YSES. [3(0Y 3RESTIVUY»i 0.0 00 00 0.0 00 00 00 0.0 0.0
TASYERAAWC - TAT N»T3%AT3T3Y ~ Y3E= - [3(CY
2485 | 04 8 5 SRESTIVAVef 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2486 | 04 8 6 T24C - 14T > 3Yar3T3Y " Y2E3- 120V SREST3YUV»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2487 | 04 s 7 Uj| plwqwywrbtiph qény htinnwgnunwywb b Gufuwgdwihl 0.0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

SRESW3Y0Y»ii




2490 | 04 Stnbuwlwl hwpwpbpnipyncGGtn (wy nwubphG swwinywbnn) 7152 625,5 1080 080,8 -8 232 706,3 -13 143 058,3 1145 940,6 -14 288 998,9 -2 457 697,9 563 058,2 -3020 756,1
ance™
2401 | 04 Stinbuwlwl hwpwpbpnipyntGGtn (wy nuwubphG swywinywbnn) 7152 625,5 1080 080,8 -8 232 706,3 -13 143 058,3 1145940,6 -14 288 998,9 -2 457 697,9 563 058,2 -3020 756,1
poe212 Pk®21200K 42PTa20a0AUa00
2500 | 05 (XA025100 ¥ 302520 a02530+ 1 AD2a0+ T AO2SB0+-FAO2560) 7213194,3 7143 194,3 70 000,0 7221694,3 7051 694,3 170 000,0 32963829 3255278,3 41104,5
3 ATl
2510 | 05 Unpwhw@inLd 5 037 106,4 5 037 106,4 0,0 5 037 106,4 5 037 106,4 0,0 2 307 669,2 2 307 669,2 0,0
anco"
2511 05 UnpwhwGnLd 5 037 106,4 5 037 106,4 0,0 5037 106,4 5037 106,4 0,0 2307 669,2 2307 669,2 0,0
2520 | 05 THOW3¢iiviiC ire=6450 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4iCo™
2521 | 05 THOTS¢iinAG (36400 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2530 | 05 Pig3T= UCe=123li¢ 20TaTU3Y 10 &30 38701,9 38 701,9 0,0 38 701,9 38701,9 0,0 18 875,7 18 875,7 0,0
4fiCo"
2531 | 05 Phc2T2 Uge=i2li¢ S0TaTU3Y 10 43103 38 701,9 38 701,9 0,0 38 701,9 38 701,9 0,0 18 875,7 18 875,7 0,0
2540 | 05 UbiGuwpwqiwquinipjwl L pGnipjwl wwwnwwnipyntb 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4Co"
2541 | 05 UbGuwpwquiwqulnipjwl L pGnipjwl wwwnwwbnipynt 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Pic=T= UCc=T=3lAC A3RTASVAAIRY - 14T b T3%aT3T3Y
2550 | 05 Y3k, =iy SRE=TSVITof 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco"
Pic=T= UCc2T3liC A3RTaSVaAIRY - 1ai b1 3rar=T3Y
2551 | 05 Y3k, 30V SRESTSVVof 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2560 | 05 Piic31= UCe=T3lC A=RTa=Vasklady (S 136»AcY 3&=71T=Va0) | 2137 386,0 2067 386,0 70 000,0 2145 886,0 1975 886,0 170 000,0 969 838,0 928 7335 411045
4nco™
2561 | 05 Phc=T2 Ugc=T3lAC A=RTa3Vasklasy (3 13e»AcY 3a=wT3Va0) | 2 137 386,0 2067 386,0 70 000,0 2145 886,0 1975 886,0 170 000,0 969 838,0 928 733,5 411045
0212520200 pEU252620A0a00 ©1 TagasU2E 12e20a6A0a0U
2600 | 06 (4403610 03620+ 403630+ ¥ 403640++ 203650+ ¥ 203660) 9183 398,3 6 650 256,8 25331415 11 394 600,2 6 540 207,9 4854 392,3 2975 095,1 1757 546,0 1217 549,1
3 ATaol
2610 | 06 “V=T3A3Y3UcY ReV3ii=hanhlasy 526 597,1 26 597,1 500 000,0 2726 597,1 26 597,1 2 700 000,0 815 500,0 2500,0 813 000,0
4ACo’
2611 [ 06 “YSTSASY3ICY RCY3ii=haAlasy 526 597,1 26 597,1 500 000,0 2726597,1 26 597,1 2700 000,0 815 500,0 2500,0 813 000,0
2620 | 06 p303IVulcY %= - 36400 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fiCo"
2621 | 06 D3USYU3ICY %30 - 36400 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
2630 | 06 #2303 1313A3A400 3074 160,2 3074 160,2 0,0 31154995 3115 499,5 0,0 3017359 301 735,9 0,0
4iCo"
2631 | 06 &30S 131303400 3074 160,2 3074 160,2 0,0 3115 499,5 3115 499,5 0,0 301 735,9 301 735,9 0,0
2640 [ 06 64046Y»fiC Ease=>Tafiasl 2180 973,0 1973 973,0 207 000,0 2180 973,0 1973 973,0 207 000,0 852 145,5 848 153,0 3992,5
4iCo"
2641 | 06 54a0a6Y»fG Ease=Tanasl 2180 973,0 1973 973,0 207 000,0 2180 973,0 19739730 207 000,0 852 145,5 848 153,0 39925
“YST3ABYUCY ROYSASAAAIBY ~ TAUAGY3E 1=263(40A1A5YY»G
2650 | 06 AT R A SHATSTSY  YSES . [3(CY SEES TSV 8000,0 0,0 8 000,0 10 000,0 0,0 10 000,0 25188 0,0 25188
4ACO"
“Y=ISA3Y2UCY 0YSh=hasAl3Y - Talasy=t T3¢3lashlasyV»nc
2651 | 06 4T RV SHAWSTSY  YSES . [30CY SEES TSV 8000,0 0,0 8 000,0 10 000,0 0,0 10 000,0 2518,8 0,0 2518,8
2660 | 06 Y=T==Y=(0Y ECY?'F:’S'Z?)Z\(??;E";_?_UI@;:&'393“55AU35YY’>'~‘ GE1 33036680 1575526,5 18181415 3361530,6 14241383 19373923 1003 194,9 605 157,0 398 037,8
4iCo"
2661 | 06 TYSTSRSYSICY BOYSARAAY | T8UANSE T=e=Uashlavy>fl (3E | 5 393 668,0 15755265 18181415 33615306 14241383 1937392,3 10031949 605 157,0 398 037,8
E»ACY 443w T3Ya0)
2ea0@2a2batAlacl
2700 | 07 (02710 4027 20+ v 402730 v A02T 4OV 80250 A62760) 165 000,0 15 000,0 150 000,0 165 000,0 15 000,0 150 000,0 36 829,1 1392,0 35437,1
3( Atasl
2710 | o7 “ABTSTSY SARSYUY»A, 83f0nA ~ E3A0= 147400V 100 000,0 0,0 100 000,0 100 000,0 0,0 100 000,0 29 906,4 0,0 29 906,4

4RCO™




o] o7 | 1 | 1 0 ARSI S&RSY Ui 100 000,0 0,0 100 000,0 100 000,0 0,0 100 000,0 29 906,4 0,0 29 906,4

2712 | 07 1 2 Uj| pd2qulwl wwypwGplbp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2713 | 07 1 3 “ART3T3Y €3A0xA ~ 3A0=3 TaRA0UY»A 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

220 07 | 2 | o SSRGSV S46I0Y 36 IRV ofl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
aCo"

2721 | 07 2 1 Llnhwlnip plnyph pd24ulwl Swowynipynilltn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2722 | 07 2 2 Uwulwghinwgywés pdgulywb swrw)jnipyntbltin 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

23| 07 | 2 | 3 STAUSTAEA- CRT=Y [26=A0AA0Y Yol 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2724 | 07 2 4 Muwpwpdywlwb SwewjnipyntGhtip 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2730 | 07 3 0 DCT=3Y13Y4a63(GY 1=6=1a0A140YY»ii 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco'

2731 | o7 3 1 Chnhwnip plnuyph hhywGnwinguwjhG swrwjnipyntGGtp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

22| o7 | 3 | 2 g=6Y= - CT=01=1 NCT=Y12Ya6=I0Y 156=1a0Aa0 Yot 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

33| o7 | 3 | 3 “ART=T3Y, VAR~ USVI=Y ToV T havTsic 156=(a0Aa0VVoh 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

| o7 | 3 | 4 D (YUY YSiY 00 00 00 0.0 00 00 00 00 00

2a0| 07 | 4 | o DSVASICY S640¢SA=N=15Y [56=1atAlao Vo 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
aRCo"

2741 | 07 4 1 D3YA=ICY 2640¢28=3N=13Y 1=26=3(a0Ala0YV»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2640c23A3NAAIBY - TaT N» T3%AT3T3Y ~ Y2E=-13(CY

as0| o7 | 5 | o L Y= 00 00 00 0.0 00 00 00 0,0 00

&nco'
24630032 33Na5AI3Y - T4 BLAT3T3Y  Y2E3- 13(CY

as| o7 | s | 1 A L oy AV Ve = 00 00 00 0.0 00 00 00 00 00

260 07 | 6 | o 26406=&=NaTAIANT (S 13E»CY =T T=Ya0) 65 000,0 15 000,0 50 000,0 65 000,0 15 000,0 50 000,0 6922,7 1392,0 5530,7
aCo"

61| o7 | 6 | 1 26406=&=N=T3Y NSR=100 126=IaARo1 1= - finfl 65 000,0 15 000,0 50 000,0 65 000,0 15 000,0 50 000,0 69227 1392,0 5530,7

22| 07 | 6 | 2 26406=&=Na0AIAN (S 13eniCY =T T3Ya0) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2800 o8 | o | o (_I_éo2810+_I_§’622L;g‘i‘?lzog’g’;ﬁ%gj;_:ggz%50+_I_é62860) 34231735 2466 693,5 956 480,0 37254106 24680143 1257 396,3 1062 266,1 1031 500,0 30 766,1

31 AT40U°

280 08 | 1 | o D3Y-6C ~ BRATIC 12621a0AA0V Yo 830 163,6 418 683,6 411 480,0 1030 163,6 418 683,6 611 480,0 227 8615 218 886,8 8974,7
&nco'

1] o8 | 1 | 1t DSY-6WC ~ BRATIC 1563 1a0AA0V Vo 830 163,6 418 683,6 411 480,0 1030 163,6 418 683,6 611 480,0 227 8615 218 886,8 8974,7

20| 08 | 2 | o DRSTEASICY T=6=1asAlaat Vo 2532989,9 1987 989,9 545 000,0 2633 906,2 1987 989,9 6459163 800 595,0 778 803,6 217915
anco'

21| 08 | 2 | 1 ==Y 600 257,7 364 257,7 245 000,0 609 257,7 364 257,7 245 000,0 180 449,1 158 657,6 217915

22| 08 | 2 | 2 A=Y - SRVVoh -~ GAOGZEN=NYoR 234 2024 234 2024 0,0 295 702,4 234 2024 61 500,0 87 952,6 87 952,6 0,0

23] 08 | 2 | 3 Uzwlnuph nGbn, whntdpGbn, LeGnpnGGbn 85 108,2 85 108,2 0,0 124 5245 85 108,2 394163 40 6181 40 618,1 0,0

24| 08 | 2 | 4 2[E UBSTA0ASICY THUST»ABAGAIANT Vot 1176 2058 876 2058 300 000,0 1176 2058 876 205,8 300 000,0 3393114 3393114 0,0

2825| 08 | 2 | 5 AT 4015158 4015158 0,0 4015158 4015158 0,0 145 4784 145 4784 0,0

2826 | 08 2 6 TCY»U3T1a-AsyC= 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

827 | 08 | 2 | 7 | DABSAOSYACT “33'3‘2“3?2;:(56’”»“ ASTSY-va - 26 700,0 26 700,0 00 26 700,0 26 700,0 00 67855 67855 00

&31C4 54561 3N204R1A5UY»AC N»e3Sf03TU3Y

a830| o8 | 3 | o e e 1Y 36000,0 36000,0 00 36000,0 36000,0 00 9960,0 9.960,0 00
aRCo'

2831] 08 | 3 | 1 Do 6a0E T S631CANS0AN AT 36 000,0 36 000,0 0,0 36 000,0 36 000,0 0,0 9960,0 9960,0 0,0

2832 ( 08 3 2 Ipwwnwpuwysnipynibltn, fudpwannipntGatp 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2833 | 08 3 3 Stntlwwnynipjwh dtinpptipnid 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

80| 08 | 4 | o THaY=12Y ~ R6=R=T=13Y =ik [26=1a0AlaVY1 24 020,0 24 020,0 0,0 253408 253408 0,0 238496 238496 0,0
&nco'

a1 o8 | 4 | 1 AT =E=ML=1SY 172 - finfl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

swaz| o8 | 4 | 2 O = onaasiletivh, SaUCaR Do 00 00 00 0.0 00 00 00 00 00

83| 08 | 4 | 3 ThaV=1=Y ~ R=e=R=T=12Y =ik [26=0AR0VY1 24 020,0 24 020,0 0,0 253408 253408 0,0 238496 238496 0,0

3BY - &7 BTAd. o A4 - AT IT3BLAT33I3Y T YSE3. |3

850 | o8 | 5 | o [PEY-EWC UBSIAGAC Oy TSIV Y=E= = 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco'

o | o8 | 5 | 1 [PPV-evC USSTANAC " ThAVC -Tat ot =vaw=1=y - VoE=- 13167 00 00 00 00 00 00 00 00 00

SRE3T3YuY»i




2860 | 08 D3Y-Gew, URSTAGIA ~ TRAY (3(E 136»ACY 4831 T=3Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Eoy

2861 [ 08 D3Y-Cew, UR3TAGIA ~ TRAY (B 1=36»ACY 4&3T13Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

T5Aa6AUa00

2900 | 09 (‘l‘éOZQ10+'|'é02920+'|‘éf)2930+'|'é(:32940+'|‘éf)2950+'|'é02960+‘|‘é02970+'|'é 23 707 658,9 22 153 400,3 1554 258,6 23759 129,2 22 204 870,6 1554 258,6 9312 804,2 9 162 966,3 149 837,9

02980)
3 AjasU

2910 [ 09 USE=18/463T3Y ~ T3AAZ13Y AV2(=Y40R ThA4AIA0Y 13 240 035,2 12 940 035,2 300 000,0 13 163 293,6 12 863 293,6 300 000,0 5327 600,2 5325 043,2 2557,0
4fce”

2911 [ 09 USE314/46313Y TAA40Ala6Y 6 847 740,0 6 547 740,0 300 000,0 6 849 282,2 6 549 282,2 300 000,0 2741 615,9 2 739 058,9 2557,0

2912 | 09 T3AAST3Y AV2=V40n ThAasAIAY 6 392 295,2 6 392 295,2 0,0 6314 011,4 6314 011,4 0,0 2585 984,3 2585 984,3 0,0

2920 [ 09 BCeY=T=30- AVLN=YasA ThAAGAIASY 7 124 009,9 7 124 009,9 0,0 7 104 883,9 7 104 883,9 0,0 2911522,0 2911 522,0 0,0
4fce”

2921 | 09 BCUYST3Y AYN=Y4sf Th 6813 678,2 6813 678,2 0,0 6 801 061,0 6801 061,0 0,0 2790 550,3 2790 550,3 0,0

2922 | 09 BCeY2T3A - (EAGT) AYLN=YA0A THAAGAIAGY 310 331,7 310 331,7 0,0 303 822,9 303 822,9 0,0 120 971,7 120 971,7 0,0

2030 | 09 vSEEIsT s z'.z.l.fy’.“l.’;;;;dé%’;'3'3Y) veeey 00 00 00 0.0 00 00 00 0.0 00
4ACo"

2931 | 09 USEYST3Y USeY3-CT3T3Y (il 13- 4R T3T3Y) TAasAlasY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2032 | 09 @O U=eV= . CusT=y Alaoy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2940 [ 09 “3A0AS - 460Y ThA&sAI&Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fGo"

2941 [ 09 “2f0A= - 40lY UBeY=2-C=T3Y ThA&AIASY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2942 | 09 3twnpnithwlywl dwuGwghwnwlywh Yppnepintl 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2950 [ 09 AT UST3AL3TY»AG 8136313 - 140 TRAAGAIASY 2764 650,1 2060 391,5 704 258,6 2889 062,6 2184 804,0 704 258,6 1 005 495,8 919 026,2 86 469,6
4ACG"

2951 [ 09 2ATS1LARA63T3Y 128 T(SASTA0AlAsY 2764 650,1 2060 391,5 704 258,6 2 889 062,6 2184 804,0 704 258,6 1 005 495,8 919 026,2 86 469,6

2952 | 09 Ef=6406Ca THA&0AI45Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

2960 | 09 TRAGGAISYA 130317740 0A=3Y13T 1=363(40A146Y V> 578 963,7 28 963,7 550 000,0 601 889,1 51 889,1 550 000,0 68 186,2 7 375,0 60 811,2
4ACo"

2961 | 09 TAA&GAI=YA 120217140 0A=Y1=3T 1=26=3(40A040Y Y »fi 578 963,7 28 963,7 550 000,0 601 889,1 51 889,1 550 000,0 68 186,2 7 375,0 60 811,2

TRAASAIBY &anTaol N» T3%a 1 313Y  Y2E=-1=3(CY

2070 | 09 o1 00 00 00 0.0 00 00 00 00 00

4fCe”
TRAASAIBY AFART AU N» 1 3BRaT3T13Y  Y2E3- 3(cY

2071 | 09 R A e oE= ey 00 00 00 0.0 00 00 00 00 00

2980 | 09 TriA4oAl4oY (3 136»ACY 43&=TT3Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4AC6"

2981 [ 09 TAA&SAIATY (B 1=26»AiCY 48271 T=2Y40) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

620£2E2T20 &a2pTa2UasAlasl
3000 | 10 (1403010+1403020+ 1403030+ 1403040+ 1403050+ 1403060+ 1403070+ 14 23491117 23491117 0,0 2277 567,9 2277 567,9 0,0 716 603,1 716 603,1 0,0
03080+1403090)
3 Ajasl

3010 | 10 13T3640ca0AIA0Y ~~ BYSRE3 1AV 3T40AI40Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4AC6"

3011 | 10 1371 =640¢a0Ala0Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3012 | 10 2Y3RE3TA5Y3T40A0a0Y 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3020 | 10 T »hacAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4ACe"

3021 | 10 T»iiasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3030 | 10 DBA3R3UCY Tanon=1 3YocYu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4ACG"

3031 | 10 D2ABRUCY TaA6AZT 2Y0CYu 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3040 [ 10 AVTSYCUC 3Y230YV»A ~ B3T3 TY»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fGo"

3041 ( 10 AYT3YCUG BY13UY»A " %3 T21TY»f 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3050 | 10 TanT1=%nTasAlasy 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
4fGo"

3051 ( 10 TaRT3%ATa0AIAY 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0

3060 | 10 “Y2I2A3Y23(CY 284=N4140U 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0




4RCO™

3061 | 10 Y=T=R=Y2I0Y Sa=Naral 0,0 0,0 0,0 0.0 0,0 0,0 0,0 0,0 0,0

3070 | 10 B46C3E2T3Y = wasT SATAVARIATT»i (3 236y 28=113Y40)| 583 104.6 583 104,6 0,0 593 304,6 593 304,6 0,0 154 721,9 154 721,9 0,0
anCe"

3071 | 10 B46C3EST=Y = wA0T 3w AVARIAYof (SE 136»ACY 34=wT=v40)| 583 104,6 583 104,6 0,0 593 304,6 593 304,6 0,0 154 721,9 154 721,9 0,0

BA6CIESTSY ASRTASVAAISY AATTA00 o T VA T ToY -

3080 | 10 Vata. foicY nt g adtn 0,0 0,0 0,0 0.0 0,0 0,0 0,0 0,0 0,0

anCo"
BA6CIEST=Y AR ASVAAISY AATTA00 o ¥ AT ToY

3081 | 10 ymta. faie] St oy =Yuing 0,0 0,0 0,0 0.0 0,0 0,0 0,0 0,0 0,0
anco’

3090 | 10 GA0CE=T=Y AT A=VAAIDY (U 126niCY 2&=TT=740) 1766 007,1 1766 007,1 0,0 16842633 1684 2633 0,0 561 8812 561 881,2 0,0
anCe"

3001 | 10 BA6C3ESTSY A=RT AR (SIE 136nCY 2&=TTV40) 302 350,1 302 350,1 0,0 302 359,1 302 350,1 0,0 82 869,7 82 869,7 0,0

BA6CTEST=Y AR ASYAAYA THUAT40 OAS1=T
3092 | 10 FmlfA A0 (ol 2 oeonc] SA T SV40) 1463 648,0 1463 648,0 0,0 1381 904,2 1381 904,2 0,0 4790115 4790115 0,0
3100| 11 DEGU=I=2U “=ARUUCSRU ﬁ;‘;‘;‘\) &=DaceT=URU Gal. 3 6047 307,0 6072 307,0 3000,0 6025 370,1 8030 582,8 3000,0 799 604,1 799 604,1 0,0
=it AfaoU

a10| 1 D 126 1=140A=Y ~ NSUSINUY-AC A=NAET 30T YA 6 047 307,0 6072 307,0 3000,0 6025 370,1 8030 582,8 3000,0 799 604,1 799 604,1 0,0
anCe"

sz | 1 BB N=U=IV VG A=NAET=I0Y yaV™ 6 047 307,0 6072 307,0 3000,0 6025 370,1 8030 582,8 3000,0 799 604,1 799 604,1 0,0




P3T313
p2pi°TiasAuvacy
Gplwl hwdwyGph pnpbh  Swhuubiph Ywwwpdwl  Ybpwpbppug
(08/01/2014-30/06/2014A. A3U=3Y=3T3=371=1¢ N3U=H)

(R=%=0 17=040)

, — ) — — ENEIESENE RS ENEENIEEE] REITET.
“JaderT3ICY TSEEHAC WY I»E3 - CST3Y 1363734 U3Y
N NATT3TY»0 L 31 Afas0° U 301 ATa50° U 3(1 ATas0
Ta0¢ Na*T=1Y>fi¢ AVI2U»VA v ATa AVI2U5VA vt Araoy INEENS v Arad
NN — (6.5+&.6) — — (6.8+8.9) — — | e1+e12) T
SYT3Y450V»iiA NN 33 T3Y US8| yavrsicy Use I3AEST3Y U6 | yavasicy Use I3REST3Y U6 | yarrsicy Use
1 2 3 2 5 6 7 8 9 10 11 7
4000 AU, =20°UA 12E€°d 694918159 | 690818159 | 438000,0 72901634,2 | 710982159 | 38116310 | 224285974 | 234486751 | -1020077,7
(0a04050+ 1405000+ a0 6000)
31 Afasl’
2 AUAZOET 12Eé°oH
4050 | (Ta04100+ 1404200+ 1404300+ 1404400+ 1404500+ X 69 056 815,9 | 690818159 3000,0 69093003,2 | 710982159 3000,0 234486751 | 234486751 0,0
1404600+71404700)
ST ATa0
a100 |11 2PE=T2Usk 12802T8a0AUa0U X 54326334 | 54326334 X 5 425 633 4 5 425 633,4 X 20854135 | 20854135 X
(1404110+0a04120+1404130)
31 ATasl
52041 1023140 2PE=2121230°8 ©1 D21 %E210230°3
a0 [ B i X 54326334 | 54326334 X 5 425 633 4 5 425 633,4 X 2085413,5 | 20854135 X
ARG
a1 | ZEESAOAC SEESWST2A00A 7 N2 1HE3 DAY 4111 | 48692447 | 48692447 X 4862 244,7 4862 244,7 X 19912493 | 19912493 X
—
a1z I,xaser,‘»s FRAUY»A, HSUSTSY ERSEacealY>n “Nswal -, 4, 563 388,7 563 388,7 X 563 388,7 563 388,7 X 94 164,2 94 164,2 X
4114 | 2 20051 RaoAIas Yo 4115 0.0 0,0 X 0,0 0,0 X 0,0 0,0 X
2120 | U°0°U 2PE=T21280°5 ©F 521 9E216260°0 (radaizl) N 0.0 00 " 00 00 < 00 00 "
GO
4121 | -~ Y»0»Y SRE3T3T3A0»A " NS T»ESTx3AY»A 4121 0,0 0,0 X 0,0 0,0 X 0,0 0,0
4130 O2ET=20/ éaok2E=21=U 242patatAU=U 1023U°d (ra04131) X 0.0 0.0 X 0.0 0.0 X 0,0 0.0
GO
4131 | -Ga0CIESTSY SASNATZAISY ITx3AVor 4131 0.0 0,0 X 0,0 0,0 X 0,0 0,0 X
12 12620a0A0200U°8% ©1 2a52UsU°8k 0960 ~ 98260
4200 |(wa04210+w404220+wa04230+wa04240+ 1404250+ 1404260) X 28 785 444,3 28 785 444,3 X 28 500 453,6 28 500 453,6 X 11 106 059,2 11 106 059,2 X
31 ATl
p252002T2T20 12E6%5
4210 [(wa04211+7a04212+7 404213+ a04214+ 404215+ 404216+ W4a04217) X 7 363 077,9 7 363 077,9 X 7 308 423,7 7 308 423,7 X 3249 343,1 3249 343,1 X
GO
4211 -Gnpéwnlwywi L pwGywjhG SwrwynipnLGGbph Swiuubip 4211 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
2212 | Ion > W CT 1563Ta0RIa o R 4212 244 881,1 244 8811 X 245 600,7 245 600,7 X 124 013,7 124 013,7 X
1213 | TaUa0V ot 156 a0AIa0 Vort 4213 | 66001996 | 66091996 X 6 617 699,6 6617 6996 X 2982602,5 | 29826025 X
1214 | T28C 1563Ta0AA R 4214 1713224 1713224 X 196 159.4 196 1594 X 719244 719244 X
1215 | 2A=NAT= - 72137 [5Eenn 4215 219 304,0 219 304,0 X 137 593,2 137 593,2 X 28 237,3 28 237,3 X
4216 | T&000C ~ 630 TARAIUV»AC ToM0=TSEA0AIADY 4216 1183708 1183708 X 1113708 1113708 X 42 565,3 42 565,3 X
1217 | 2ATE A T»eao 1Y [SEerh 4217 0.0 0,0 X 0,0 0,0 X 0,0 0,0 X
7120 12002000°0F ©1 boa=12Ua0AUa000°dE T12EE°0
4220 | B o stoms) X 70 548,0 70 548,0 X 69 548,0 69 548,0 X 80257 80257 X
AnCo"




4221 | -U»AuCY - AR TAG0A0T»A 4221 48,0 28,0 X 48,0 48,0 X 148 148 X

4227 | 2Ar=e=RU=VISY - AN a00A0UT»AC - TaT ToEern 4222 70 500,0 70 500,0 X 69 500,0 69 500,0 X 8010,9 8010,9 X

1223 | 2E TH=VeBANTaI0Y 1S Eenh 4229 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
a20020>1520/0 2UE 1°62UacAUa00U°5% 0°60 ~ 03200

4230 flfé%‘i“z";l)* 1604232+ a04233+WA0AZ3AWA0AZISHIA0A236 AAZSTH | 14 474557,8 | 14474557,8 X 14497393,1 | 144973931 X 58657675 | 5865767,5 X
R

1231 | A =aSToY 156=la0ha Vo 4231 2909,9 2909,9 X 29099 2909,9 X 14829 14829 X

1232 | D010 53007 T26=Ta0AlasvVoh 4232 36 1948 36 1948 X 36 1948 36 1948 X 111068 111068 X

4233 | -BESWEIFAUC USEYS- CU=T=Y #30-S0Usy 4233 9 240,0 9240,0 X 9 240,0 9240,0 X 4139,1 4139,1 X
13é3(a0AladYY»in

1231 | 03T 1213 (565 a0AT Von 4234 66 009,2 66 009, X 62 967,0 62 967,0 X 79125 79125 X

1235 | 1263 1oma12Y [2631a0AlaIon 4235 10 000,0 10 000,0 X 3800,0 3800,0 X 3800,0 3800,0 X

2236 | I»YO6303UCY " NBYASICY YYLC 1=3é3a0AladYY»h 4236 0.0 0,0 X 0,0 0,0 X 0,0 0,0 X

1237 | U»iT=126a065137 15Eenn 4237 108 8814 108 8814 X 108 8814 108 8814 X 227953 227953 X

4238 | -CGnhwGnip plnyph wy| Swrw)nipjnLGabp 4239 14 241 322,5 14 241 322,5 X 14 273 400,0 14 273 400,0 X 5814 531,1 5814 531,1 X

unhuwfimp pnijph wy| Swpuympyntain

4240 (Izgg gjf)"z”f T=I20 1=e2Ua0Aua0lueok 0%eo ~0a00 X 86 043,9 86 043,9 X 86 043,9 86 043,9 X 22 246,4 22 246,4 X
R

1241 | 9387 - CHoT13Y 156=lathlaT o 4241 86 043,9 86 043,9 X 86 0439 86 043,9 X 22 2464 22 246 4 X

azso [AUAZOET Uadafiaos o1 a=pa=yace (I=e=asAlaoyy>n X 61497742 | 61497742 X 5996 474,8 5996 474,8 X 17279365 | 17279365 X
YUaoA»n) (wa04251+1a04252)
ACH"

apsy | PPYAC T T=EA0OY»AC AYAZOCT Yana-aol ~ a=Na=val 4251 | 58724491 | 58724491 X 5720 049,9 5720 049,9 X 16305325 | 16305325 X

azsp | JT TN ESAUSTANAOOMAC AVASOCT Yana- 200 a2s2 | 2773251 2773251 X 276 424,9 276 424.9 X 97 404,0 97 404,0 X
UvaséA°s

4260 |(1a04261+71404262+71404263+71404264+71404265+ 1404266+ 1404267+ X 641 4425 641 4425 X 542 570,1 542 570,1 X 232 740,0 232 740,0 X
'l'éf)4268)
AACo"

4261 | A=eVI=T=0CY Viathoti ~ W= - 2060 4261 83 289,5 83 2895 X 817488 81 748,8 X 26 188,6 26 188.,6 X

4262 | ATV T>6=T=7 SARSVITHR 4262 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

aze | [ PIZAZIISENUSY = a08a00U=Y Viatn (SBE=TA0V>AC 4263 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
»A3a3TR=3614ail)

1264 | TRSVeRART=ICY YAthoh 4264 264 8675 264 8675 X 267 535,8 267 535,8 X 132 903,0 132 903,0 X

4265 | -bc=T3 UCe=T3IRC ASRTASYAAISY ~ -CwSTSY Yiash»i | 4265 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4266 | -Unnngwwwhwlwb L jwpnpwwnp Gyniplip 4266 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4267 | T>V630=1CY ~ NoVA=IGY 6VV2C iAok 4267 242505 24 250,5 X 242505 24 250,5 X 6 313,9 6 313,9 X

4268 | D101 VASTST3I0Y 2 Vidshnn 4269 269 035,0 269 035,0 X 169 035,0 169 035,0 X 67 334,5 67 3345 X

4300 | 1.3 TaTaé2i0280°8 (v404310+ w40 4320+1404330) X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
3(1 Afasl

1310 |U°00%U TaTaé=10280°8 (1a0a311+Ta04312) X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
E

4311 | -U»AUCY 3AA»A0A»AC WATAES TX3AY» i 4411 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

2312 | -U»AUCY T2RT»AC TATAES xSV 4412 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4320 | 2072040 TaTaé2i0280°8 (rvad4321+1ad4322) X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
)

1321 | 2ATSUCY SHASAGASG - TAT TATAES IxSAToR 4421 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4322 | PATSUCY T2ATAC - 14T TaTAE3 1 <3AVof 4422 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
BaE2ea6AUadUl°SE bOT 124121 10280°8

4330 (T404331+1404332+1404333) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
4RC6"

4331 -Onfuwlwldwh Ynipubiph pwgwuwlwl tnwppbpnipynia 2431 00 0,0 X 0.0 0,0 X 0.0 0.0 X

4332 | -TadlA»h 4432 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X




4333 | -6AE3640AIAGYY»AC - TAT TAdfU»f 4433 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4400 |1.4 620" ek £20°8 (wa04410+wa04420) X 13 299 543,6 13 299 543,6 X 13 313 155,0 13 313 155,0 X 5827 491,3 5827 491,3 X
3{x A4l
éab ek, £20°8 a°r=120 (202000=Uk0)

410 |5 oTosA46AUAG0TOBED (VAO4411+E04412) X 13 093 143,6 13 093 143,6 X 13106 755,0 13106 755,0 X 5724 681,3 5724 681,3 X
anco’

aaqy | Umpubnhw0tn ng-hiubuwiul wenwwl (wowOpuwh®) | 4500 | 130931436 | 130031436 X 131067550 | 131067550 X 57246813 | 57246813 X
13%U3T»i&a0AlasYY»AcY
-UnipupnhwGbp $hbwluwywl ybnwlywh (hwiw)bpwjhl)

4412 T30 T RAAGAIAOVY»ACY 4512 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
éab ek £20°8 aa a°r1=212U (aa b20=00s2U/£0)

420 | 5 T o5 Aa6AUACOUOSED (VA04421+7404422) X 206 400,0 206 400,0 X 206 400,0 206 400,0 X 102 810,0 102 810,0 X
ance’
-UnipuhnhwGbp ng whnwlwb (ng hwdw)GpwjhG) ng

M21 | e =Y T T RAAIAIANISACY 4521 206 400,0 206 400,0 X 206 400,0 206 400,0 X 102 810,0 102 810,0 X
-UntpuhnhwGbp ng whwnwywh (ng hwiw)GpwihG) $hGwhuwlwh

4422 TSRS ToAAAAIANT>ACY 4522 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4500 |1.5 _8202pUaspUes (wad4510+1a04520+ 1404530+ 1a04540) X 1448 903,8 1448 903,8 X 1542 753,2 1542 753,2 X 713 864,2 713 864,2 X
=1 ATl
. 8202p(JadpUoed uT23°8T802 T2e2128a0A0a600°8£0

4510 (045114 7404512) X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
ance’
-AYA36GT TA=U3RYAANY»A 00 SA»ATAIS

8511 |\ s on poan Ao RIAOT TG 4611 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
-T2ACT3E 1ASU3RYAANY »A 0T 3A»ATAHIS

4512 ys¢s rpiashiasyVmicy 4612 00 0,0 X 0,0 X 0,0 X

4520 ié?ZZDU_ézQDUOB OER2YIT2UEAU 124021 °88a0AUa6UUCSEU X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
(1404521+7404522)
ance’
-AYA36CT 1A3U3RYAANY»A UCe3% - 3(CY

4521 | ROV oCY 4621 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
-T3ACTS3E 1A2U3RYAANY»A UGe3% - 3{CY

4522 |ysyusTmnaasAlas Y »ACY 4622 0,0 0.0 X 0,0 0,0 X 0,0 0,0 X
AUA20£T , 3202pUadbUed &°12120 D2TT21 £ 2UE

4530 2725, 2TUCSEU (v404531+ 504532+ 17404533) X 1448 903,8 1448 903,8 X 1542 753,2 1542 753,2 X 713 864,2 713 864,2 X
AfC6" X X X
- AYA34CT 1A3U3RYAANY»f &»r3T3Y " N3U3IYuY»icC 4a

4531 |36 TASICY T3%U3T»AAA0AIA0YY»ACY 4637 22 718,0 22 718,0 X 22 718,0 22 718,0 X 11 359,0 11 359,0 X
- AYA36CT 1A3U3RYAANY»A &»T3T3Y " N3U3IYuY»ic

4532 |36 TASICY T3KU3T»AAA0AIAEYY»ACY 4638 66 781,6 66 781,6 X 66 781,6 66 781,6 X 33390,8 33390,8 X
- 2[E AYA=6CT 1A=3U3RYAANY»f

4533 (V40 4534+T40 4537 +740 4538) 4639 1 359 404,2 1 359 404,2 X 1453 253,6 1 453 253,6 X 669 114,4 669 114,4 X
31 ATail X X X
- 03T3Y CYUYST363TAU3Y USAUCYY»ACY

4534 (V40 45354140 4536) 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
AfCH" X X X

4536 [3[ENSUSYUY»AGY 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4537 | - 33 whwnwlwh pjnpbhh 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4538 | - 3[E 1 359 404,2 1 359 404,2 X 1453 253,6 1453 253,6 X 669 114,4 669 114,4 X
T24£T2E | 5202b0adhUoed &a°121T20 p2TT 21 £ 2UE

4540 22728, 2TUCHEU (va04541+ 1404542+ 1 404543) x 0.0 0,0 X 0,0 0,0 X 0,0 0.0 X
ance’
T2ACT3E 1ASU3RYAANY»A &»T3T3Y ~ NSU3(YUY»AC 44

4541 |36 TASICY T3KUST»AAAAIAGYY»ACY 4655 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X




-T2ACT3E 1AZUSRYAANY»A &» T=T3Y " NSUSYOY»AC

4542 |36 TASICY T3KUST»AAA0AIAGYY»ACY 4656 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
-2 T3&CT3E 1A3U3RYARNY»A

4543 (40 45444740 4547 +740 4548) 4657 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
=1 AT400
- »03T3Y CYQYST3E3TAU3Y USAUCYY»AcY

4544 |14 a5454r40 4546) 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
ance’ X X X

4546 [DD 3(E N3U3YUY»ACY 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4547 | - 33 whwwlwa pjniobhG 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4548 | - 3{E 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
1.6 eao£2E2T20 U&26TU°8 ©7 T°Ué2Aab2TU°d

4600 (¥ 404610+ 404630+ 504640) X 1738872,0 1738872,0 X 1895 272,0 1895 272,0 X 509 548,3 509 548,3 X
31 AT400

4610 |8A0£2E2T2U 242PpaiadAu20 Ua26TU°3 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
3{x A4l
- TY3(CY WY »8adAlasYY»ACY TASVAT Tx3AT40

4610 AN A MRS : 0,0 X
BAOC3E313Y S 43NaTAlAIBY Ix3AY»i 4711 0.0 0.0 X 0.0 0.0 X 0.0
- Unghwjwywl wwwhnynipjwl pOtint0 GuwuwnGbp

4620 |- A Mo ) X 0,0 , X
1=26=2{46A140Y Vit U=1A0640Y»ACY 4712 0.0 0.0 X 0.0 0.0 0.0
éaok2e2T20 aUaéAU20 |, 8202120 20T202UTadAU20”~

4630 |U&28TUCS (“UadeCko) (vad4631+1a04632+1a04633+1a04634) X 1738872,0 1738872,0 X 1895 272,0 1895 272,0 X 509 548,3 509 548,3 X
ance’

4631 | -AnunupYuynpnipjwl GuwuwnGp pjnigbihg 4726 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

1632 “UppwlwG, dawynipughl L uwynpwwhb GuwuwnGtp pyniebihg 4727 0.0 0.0 X 0.0 0.0 X 0.0 00 X

4633 | -POGwywpwGuwihb GuwuwnGbp pjnigtihg 4728 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4634 | -Ujp Guwuwnlbp pjniptihg 1738872,0 1738 872,0 X 1895 272,0 1895 272,0 X 509 548,3 509 548,3 X

4640 | ToUE2Aab2TU°S (v404641) X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
ARCG"

4641 | -T»Y83AARZTY»A 4741 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
1.7 2UE 12Eé°3

4700 |[(wa04710+7a04720+wa04730+ 404740+ 404750+ 404760+ Wa04770) X 18 351 418,8 18 376 418,8 3000,0 18 415 736,0 20 420 948,7 3000,0 3206 298,5 3206 298,5 0,0
31 ATl
Ui#£32TTa6A0a600°8 aa 12621232120 (p26256212120)

4710 | T24@2T°84a0A0a600°8£0 (vada711+wa04712) X 1092 629,9 1092 629,9 X 1093 939,7 1093 939,7 X 633412,8 633412,8 X
ancoe’ X X
- TY3(CY WY »8a0AlasYY»ACY 13é63(a0AlasYY»A U3 Tas640"

4711 |R=3N&00A a» 3 AaY140 T3%UST»AA4a0AIAsYY»ACY 4811 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
Y TCAST TasAlasYY»i

ar1p | UTCASTTA0AIAOYYSH =IE BSNAGIA B 1= Y240 4819 | 10926209 | 10026299 X 1093 939,7 1093 939,7 X 6334128 633 412,8 X
13%U31»AQ40AladYY»ACY
D23T°8, 42312, £3 10280°3 °F TaoUA<d, adaleo
12627208020 128 °3 92128, 2TU°S£ TaOo#o TEI2eTacd

4720 o PEGUZU6 UTZTO20" (v404T21+ v A0AT22+ ¥ 404723+ 404724) X 140 260,9 140 260,9 X 133 227,9 133 227,9 X 37 723,0 37 723,0 X
ance’

4721 | -2RE3T3T13A0C yay? 4821 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4722 | -20E N3AT»f 4822 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4723 | -A3AW31CA Tx3AY»A 4823 140 260,9 140 260,9 X 133 227,9 133 227,9 X 37 723,0 37 723,0 X
-“Mbnwlwl hwwnywséh tnwpptp dwlywpnwyGtph Ynnohg

4724 Shijwlig GlwwnGwdp Ghpweynn naudtn 4824 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X

4730 |- 2T202UUPSE 1a02#0 UP2U2TT21 TadUA®CS °7 X 0.0 0,0 X 0.0 0,0 X 0,0 0,0 X

TaoT20eU°d (wab4731)

ange’




T STSASYYRC TA0UC YRSV T 151 WalASA -~ Wa0-3V0von

4731 4831 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
“02120 20°70°8£06 120 2UE ~U2120 &270260°0a1
4740 | 26222027 T1U260°64 T20 1026121 0U°£ 1°62T20T0a00 X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
(r404741+wa04742)
ARCO'
ZYST3Y 305 1Y»A00 263¢36=1 13613 UV»AC 13U
T4 | Lot EoT=Y V400 4841 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
a7az | WL plulw wunGuinGtinny unwgws Yauuywsplbnh 4842 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
»A=313Y-Yaiu
1262128020 0280£00°£ Tad I 260°adAU20 boToT1200ai
4750 |2e22202] TU26U°6£ T20 10261210096k X 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
71°62T2090a60 (va04751)
ARCH"
-T26313A03Y USAUCYY»AC - ARTATY»&0AI2Y N» 1 3YUaT
4751 |263¢26=T TY26T2TUY»AC T2U TY26Y»AC M»AST3Y - V45U 4851 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
4760 | 2UE T2E6°8 (vaDA761) X 110712210 | 110712210 X 11 163 198,3 11 163 198,3 X 1735 558,6 1735 558,6 X
AfCG"
4761 | -2E 1=E6»h 4861 | 110712210 | 11071221,0 X 11 163 198,3 11 163 198,3 X 1735 558,6 1735 558,6 X
4770 | &2Dacé T2UAU OEzaolod (vaba771) X 6 047 307,0 6072 307,0 3000,0 6 025 370,1 8 030 582,8 3000,0 799 604,1 799 604,1 0,0
ARCH"
4771 | -a=Na0e r=1CY UCCA6Y»A 4891 6 047 307,0 6072 307,0 3000,0 6 025 370,1 8 030 582,8 3000,0 799 604,1 799 604,1 0,0
wyn pyntd’ hwiw)Gph pjniebh Jupswwb dwuh wwhniunwihG
4772 |yav1Co yay1={cy U=6 1= =140 NS wT=6400V»A X 28 000,0 28 000,0 X 2008 212,7 2008 212,7 X 0,0 0,0 X
~.aa 0£U20é2T20 2TTAIUCSE TTai
5000 J2Eé&°5 X 8 677 706,3 X 8 677 706,3 18 107 629,9 X 18107 629,9 | 20006784 X 2000 678,4
(1a05100+ 1405200+ 1405300+ 1ad5400)
ST
1.1. DERU2T20 PE=aoU°8
5100 | e 10 v 05120+ 140130) X 8 638 206,3 X 8 638 206,3 17 968 129,9 X 17 968129,9 | 19337739 X 1933 773,9
EEWSTIN)
poUg°8 °7 bAUaGAUa600°8
S110 | 265111+ 74081197 205113) X 7 153 509,4 X 7 153 509,4 16 284 919,4 X 162849194 | 16010936 X 1601 093,6
ARCO'
5111 | - GhiGpkph L 2pGnip)niGGLph dbnp phpncd 5111 500 000,0 X 500 000,0 2 700 000,0 X 2 700 000,0 813 000,0 X 813 000,0
5112 | - P»YU»AG ~ RCYABAIAGYV»AC 136406400 5112 1562 000,0 X 1 562 000,0 8142 792,9 X 8142 792,9 131 202,0 X 131 202,0
s113 | PPYUPAC ™ BCYASAIAGYYAC T=ACTSE THAi=vana - 40U 5113 | 50015094 X 50915094 | 54421265 X 5442 1265 656 891,6 656 891,6
2°0°020°3 ©7 62802120a000°8
5120 | 2661010 v405122+1405199) X 1150 196,9 X 1150 196,9 1323 086,9 X 1323 086,9 272 853,6 X 272 853,6
ARCO'
5121 | - TRSYEAANT=ICY 83A0= fanadUY»h 5121 50 900,0 X 50 900,0 50 900,0 X 50 900,0 37 890,0 X 37 890,0
5122 | - 12043 13Y 63002 1ana0UY»h 5122 127 832,0 X 127 832,0 127 532,0 X 127 532,0 67 518,7 X 67 518,7
5123 | - 2 UsUsY Vo -~ E2A03T4Na00T»h 5129 971 464,9 X 971 464.,9 1144 654,9 X 1144 654,9 167 445,0 X 167 445,0
20E pEDU2T20 OFzaol°d
5130 | 6 5131040 513200 5133+ ¥A05134) X 334 500,0 X 334 500,0 360 123,6 X 360 123,6 59 826,6 X 59 826,6
ARCG
5131 | -2x»0140 STWCTY»f 5131 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5132 | - aa YIabA=12Y NCUY=T=Y UCcaoy»h 5132 0,0 X 0,0 1623,6 X 1623,6 1623,6 X 1623,6
5133 | - Trat»¥CE 13V USA N %= -A=13Y 1SEExR 5133 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5134 | - USE3- 13 T3%ar313Y 13Eé»h 5134 334500,0 X 334 500,0 358 500,0 X 358 500,0 58 203,0 X 58 203,0
5200 |1.2 42P200°8 (1a05211+ 1405221+ 1405231+ 1a05241) X 39 500,0 X 39 500,0 139 500,0 X 139 500,0 66 904,5 X 66 904,5
3 A4l
011 | - PPUSIVUSICY YBSYSTAAISY 63403 1373137 &383AVxi 5211 0.0 N 0.0 0.0 M 0.0 0.0 M 0.0
5221 | - UladA»f ~ &=A=- =V»f 5221 39 500,0 X 39 500,0 139 500,0 X 139 500,0 66 904,5 X 66 904,5




- I»A3T3x360C N3U3A YIE3T»6131 3AA3YUY»f

5231

5231 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5241 | -e&=eU=3Y YA3T31ai a=N1a0 A=3R3iV»i 5241 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5300 |1.3 - 200020A%0 ZTTETUS (140 5311) X 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
31 A4l
5311 | -~ 3A0A3AA»U ST CTY»A 5311 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
1.4 22672, 6121 UYSPIUEL (rad
5400 5411+740 5421+ 40 5431+7405441) X 0.0 0.0 0.0 X 0.0 0,0 X 0.0
3{1 A4l
5411 | -Dad 5411 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5421 | -AVI»AUSICY STHCTVoA 5421 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5431 | -Uj; plwlw@ Swqnid niGtignn wlwnhyGbp 5431 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
5441 | -ad YI&AST3Y a3AT31AT31 STUCIY»0 5441 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
9. aa uEU2082T20 2TTE1 UCBE £520200£0 -8 242 706,3 X -8242706,3 | -14 2989989 X -14 298 998,9 | -3020756,1 X -3 020 756,1
6000 (Ba0T @20 (vad6100+ 1406200+ 1406300+ wa06400) X
EENER
6100 2T2(0 ao0° 202000 JATTEO
DECU=T=U BA=aoU"dk £5=0a00E0 0abiTa"0 X -1 800 000,0 X -1800000,0 | -1650000,0 X -1650000,0 | -567131,6 X -567 131,6
(406110+ 1406120+ 1406130)
EENYER
6110 | 2UP=5A 1a6Unk £520200/£0 DadTo5 8111 | -1800000,0 X -1800000,0 | -1650000,0 X -1 650 000,0 567 021,6 X 567 021,6
6120 |P28AZ120 TadUok £620a00/0 PadT o 8121 0,0 X 0,0 0,0 X 0,0 -100,0 X -100,0
8131
6130 | 21 pEgU=T=20 DERa0U°SE £520200/0 PaoTED 0.0 X 0.0 0.0 X 0.0 100 X -10.0
a2p2/U°Hk £520a00E0 FAOTECD
6200 (V4062104 406220) X 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
EEY TR
e2yp=21262120 b20200020f0 &2Pp28U°8K
6210 | o320 360E0 DAGTCS 8211 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
20F &2p28U°8k £S20a00%0 DadTo°d
6220 (v406221+ 7406222+ 71a06223) X 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
ARCo
6221 | - 2ZRT=S1A=12Y A3R2AY»AC Ci=0asUCo Uab i Usfi 8221 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
SIS 13x360C N30S0 SAan=YUY»AC Chi=6aiuco
6222 |Uasvimf 8222 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
- A3BA3B 2B)3A YSBEST» 131 A33/AY»A
p223 | - CATEUSY N2USA YSESIHEr=T A3R=AY-AC 8223 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
CA=0640UCO Uadmu»i
“230828A00 2TTEi 10 2334 A AA o,
6300 | _’6~06 O0ACg 2ZITETUCOHL £520a00£0 BadT@®0 X 0.0 X 0.0 0.0 X 0.0 00 X 0.0
(&0 6310)
EEN TR
6310 | ~280828/4°0 2TTET UCSE F520300/0 DA0ToOS 8311 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
42572, 5121 2TT£1 UK £520200K0 Ga0TEOD
6400 X -6 442 706,3 X -6442706,3 | -12648998,9 X -12648998,9 | -2453624,5 X -2 453 624,5
(1406410+ 1406420+ 1406430+71406440)
EENYER)
6410 |PAaOZ £320a00/£0 DadTo°d 8411 | -64427063 X 6 442 706,3 | -12 6489989 X -12648998,9 | -2453624,5 X -2 453 624,5
6420 |GTT2126 D2UZ 1 AU°SE £OZ0200/£0 DadTo°d 8412 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
20E ~U2120 121260 a0U°0a0 bADUZT20
6430 | iy reao U086k 5202000 Da6TEOS 8413 0.0 0.0 0.0 0.0 0.0 0.0
aa UlaoA=212U 82012, 0121 2ITATUPOK
6440 8414 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0

AO20a0d#o PadTo°d




b=2pi

Tia6AuasU

05012 g202g D21°Ea6S L 120 42126400 £ (_CULOETE) 12125020 19527 o802¢

(08/01/2014-30/06/2014A. A2U=Y=T23R=3 7 =1¢ (=20=0)

(R=%= 1A=040)

P=Ti=14

T3> I138Y NSeT3Ti131 a3y T3> 13Y xR i=1 aE3Y O38T306(C
L AY13U»YA AY13U»YA AY13U»YA
o s(2 Aol s Aol s Al
T=na NENEEST =N yav1=] REiSIEA NEYEES A
(6.4 + &5) pjnLoki pjnLoti (6.7 + €8) pjnioti pjnioki (.10 + &11) pjnLoti pjnLoki
1 2 3 4 5 6 7 8 9 10 11
AU, =0°UA DZ.I.OEaOAa\’AA I\ZQ - CUROETA -400 000,0 0,0 -400 000,0 -1793 418,3 0,0 -1793418,3 4 335 099,0 3313619,4 1021 479,6

8000, (&=21=2éa00_A)




p2picoTiacAlasy

P3TI=315

252120 g202gf£ D21°Ea08, £ T2725 1020 a60026AUa0UUCSE T20 42128400, £ (, CULOETE) UAU2082128020 207 UaodU°sE

(08/01/2014-30/06/2014A. A=2U=3Y3T3(3T =1 (=3U3A)

(R=%=f 1A=041)

T3 13Y NSe 131131 AEsY T3 13Y xBH 131 AE3Y 5381300
“ 145> T3ICY TPE&»AC TY T »e3-C 313V 136313#-U3Y NALT3TY»A
pa0g | (O WSICT ISESACTVINES -(WSISYASeSISn- 0SVNaTSIDAC | avasinva s Arail AV2SUYA s Arail AVASULYA i1 A0
NN _ — (6.5+€.6) — — (e.8+€.9) — — (e.11+&.12) — e
3YT3YalUY»iA NN I3Aa313Y U3é | yaY13(CY U3é 1303313y U3¢ | yaY13(CY U3é 1303313y U3¢ | yaY13(CY u3é
1 2 3 4 5 6 7 8 9 10 11 12
AU 2g°UA (w40 8100+ w40 8200),
8010 (V40 8000 N=T=6T YR=Y4T) 400 000,0 0,0 400 000,0 1793 418,3 0,0 17934183 -4 335 099,0 -3313619,4 -1 021 479,6
3[1 ATal
8100 2 (Joaskl 20” Uas5U°8 (740 8110+7°40 8160) 400 000,0 0,0 400 000,0 1793418,3 0,0 1793 418,3 -4 335 099,0 -3313619,4 -1 021 479,6
3[1 ATail
—= —5 ——=
8110 él.léjo‘?E ead JEeaoled (140 8111+7140 00 0.0 0,0 00 0.0 0.0 0,0 00 00
S Aiaol
g111| 1.1. Undtipnplin (pugwrnipywiip pwdGtinndubiph b uwhuwpnud wyy 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
U38Y=3T640AI3Y) (140 8112+740 8113)
anco’
8112| - pnnwplynidhg b inbnwpuwpfunidhg dniinpbn 9111 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8113| - NCUY=T3Y - a5U=AC U=iiasU 6111 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8120[1.2. I3AT»A ~ —AE3TT40AIA6YY»A (6206400 ~ U=f4dl) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
(w40 8121+wa08140)
3(1 ATal
8121|1.2.1. 1=7il»N (140 8122+71a0 8130) 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
anco”
8122 - I3AI»AC 6736400 (W40 8123+40 8124) 9112 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
ACO
8123\ whwnwlwl pintobhg 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8124|wy) wnpyniplbphg 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
S 6136121 13Al»A¢ NGUY3T3Y - 40U=AC U=ndol (7a0 8131+ 740
8130/|8132) 6112 0,0 0,0 0,0 0,0 0,0 0,0
anco’
8131|373 whnwlwl pynipbhG 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8132|wyy wnpyniplliphG 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8140|1.2.2. GAE3T740Al46YY»A (w40 8141+ w40 8150) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco’
8141| - pyrugbunuyh thnpuunnyrupyni GGtk g (vads142+wads143) | 9112 0.0 00 00 0.0 0.0 00 00 0.0 00
anco’
814237 whnwlwl pynigbhg 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
814337 wy; hwiuwylplbiph pintoblbnhg 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
- BT 36731 +4E3TTA0AIAYVoiC - 40U3AC U=3nao0 (740 8151+1a0 o112 00 00 00 00 00 00 00 00 00
8150/8152) ’ ’ ' ' ’ ' ' ’ ’
AMCo"
8151|373 whunwlwa pynipbhl 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
8152|373 wy; hwiuylplbph pintoblbphl 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
2. UAU2062T20 2TTET U8 400 000,0 0,0 400 000,0 1793418,3 0,0 1793 418,3 -4 335 099,0 -3313619,4 -1021 479,6
8160|(1408161+1408170+1408190- 1408197+ 1408198+ 1408199)
3[1 AT4sU"
2.1. “3AY»TaUe»A " TSACT3E40U 3k U=6Y3T640A046Y (a0 0.0 X 00 250 000.0 X 250 000.0 228 000.0 X 228 000.0
8161|8162+ 140 8163 + a0 8164) ' ' ' ’ ' '
ACO"
- hwiwylpuyhl ubithwlwlnipjwl pwdltinndubiph b uwpuwnid 9213 0.0 X 0.0 X 00 X
8162|N=3U3{Y0C U=6Y3T640AI3Y CA=645UC6 VAT U»i ' ' '




- CA=T. 3Y0. T3YaY31i. T3ACW3Ea0U &» 7. USeY3T6, 8. é»+3T.

8163 hwlnhuwgnn wlpwnd gnyph (pwgwn. hnnbph), wyn pyntd” whwwpun 9213 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
2hGuipwp. opyliinlbph dwulwynpbgniihg 9. Uhgng-hg
hwdwylph pynLolk dwuhwlnidhg dniunplin
8164| - pwdltiinndubip L Guypunwnid wyp dwulwlgnipyni d6npplpnid 6213 0,0 X 0,0 -250 000,0 X -250 000,0 -228 000,0 X -228 000,0
8170[2.2. BAEZT T40AIAHY V> 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco”
- YBEIGYAU TABUSIATST +~AE3T1T40Al46YY»AC 1GU36 6136140
8171|U3fiaUY»nCco U 9212 0,0 0,0 0,0 0,0 0,0 0,0
8172 - —AE=7T40AI46YY»AC TA=U31A450 6212 0,0 0,0 0,0 0,0 0,0 0,0
2.3. 3wiwjGph pynLgbih thengGliph nwpbuyqph wquwn vhwgnpnp®
8190 |(W40 8191+740 8194-140 8193) 400 000,0 0,0 400 000,0 2043 418,33 0,0 20434183 2043 418,33 0,0 2043418,3
3[1 AjasU"
2.3.1. 3wdwylph pyniobh qupswlywh dwuh dhengltiph tnwpbuygph
8191 |50 o UV=6ant 0320 100 000,0 100 000,0 X 1823 495,0 1823 495,0 X 1823 495,0 1823495,0 X
4nco"
- Ghpwlyw t nunndwl hwdwylph pynipbh Jupswlwl duwupg Gufunpn
8192 [W=adl yoY3Ve=ail3y »YAST=, 6313)Y ayCy3Ve=fani=N 3613 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
A3AT3T4Ra0AIAYY»AC TS T3AISYA
- GOpwlyw t ninndwl hwdwylph pynigbh pnlnuypl dwu
8193 (V40 8191 - 40 8192) 100 000,0 100 000,0 X 1823495,0 1823 495,0 X 1823 495,0 1823 495,0 X
2.3.2. 3wiw)lph pjnipbh $nlinwjhl dwuh dheonglbtiph tmwnbulygph
8194 | 0ssant (V40 8195 + T40 8196) 9330 400 000,0 0,0 400 000,0 2043 418,33 0,0 20434183 2043 418,33 0,0 2043418,3
anco”
- wnwlg yunswlwl dwuh dhongllipnh tnwpbulqph wqun dGwgnpnhg
8195 GATLSICY U=6 UATWU= - AUSY »YASTS - 40U=AG 300 000,0 X 300 000,0 219 923,3 X 219 923,3 219 923,3 X 219923,3
- Yupswlwl dwup Shonglbiph inwnpbuligph wquin dGwgnpnhg
8196 GAYIIICY U6 UATTU=- AUSY »VAST - 400=RA (140 8193) 100 000,0 X 100 000,0 1823495,0 X 1823 495,0 1823 495,0 X 1823 495,0
2.4, 3wdw)Gph pyneth $nGnuwphG dwuh dwiwGwlywynp wquin
8197 UCcaoY»Ac TA=U31Aail 13ra3T3Y U3e X X X X X X 0,0 0,0 0,0
2.5. 3wdw)Gph pyniebh dnGnwjhG dwuh dwiwGwlywynp wqun
8198 |UCGAGY»ACH T2Aa3T2Y U=6 TASUS1AT2T UCGAdY»AC T»A313A0 0,0 X 0,0 0,0 X 0,0 0,0 0,0 0,0
yav1=icy Use
2.6. 3wiwjGph pynLgbih hwzynid dhengltiph WGwgnpnlbipp hwaybinnt
8199 |A=U3Y=T={=7T=14U (r408010- w40 8110 - w40 8161 - w40 8170- 0,0 0,0 0,0 0,0 0,0 0,0 -6 150 517,3 -3313619,4 -2 836 897,9
40 8190- W40 8197- 40 8198 - w40 8210)
8109 | 19" Swfuulinh Bhluwiluundnpdulp sninnduwd huduylph pinigbh 0,0 0,0 0,0 0,0 0,0 0,0 -1823495,0 0,0 -1823495,0
Uhonglbinh tnwpbuliqph wquin dlGwgnpnh gnidwpn
8200 7. 23T=20kU 20" Ua030°8 00 0,0 0,0 00 0,0 0,0 0,0 0,0 0,0
(wad 8210)
3[1 ATal
1. BAE 240 PEzaoU°d
8210 (V40 82114740 8220) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
3[1 AjasU"
1.1. Updbpnpbn (pwgwnenipjwip pwdbtnndubph b Gwwhnwned wy
8211 sy =T 645A13Y) (A0 8212+7WAD 8213) 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
4nco"
8212| - pnnwplnidhg L inbnwpuwpfunidhg dninpbn 9121 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8213| - NCUY3T3Y - aU3A¢ U3haslU 6121 0,0 X 0,0 X 0,0 X
1.2. 13fI»fA " ~AE3TTa0AladYY»A (636400 —~ U3fiaol)
8220|8891 47740 8240 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
3[1 ATal
8221]1.2.1. 13AT»A (140 8222+ w40 8230) 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
4nco"
8222| - T30 1»AG 6364l 9122 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8230[ - 6026121 1=2AT»AC NCUYST23Y -45U=AC U=AasU 6122 0,0 X 0,0 0,0 X 0,0 0,0 X 0,0
8240|1.2.2. BAE 31 T46AI46YV»A (140 8241+740 8250) 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
anco
8241| - ~AE3TT40Ala6YY»NC 6 W=064iU 9122 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
8250| - 630131 ~AE3TT140AIA0YY»AC - a0U3AC U3fadu 6122 0,0 0,0 X 0,0 0,0 X 0,0 0,0 X
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